DU BEd

Topic:- DU_J19 _Bed_T1

1) Read the passage given below carefully and answer questions

Rakesh was on his way home from school when he bought the cherries. He paid fifty paise for
the bunch. It took him about half-an-hour to walk home, and by the time he reached the cottage
there were only three cherries left. ‘Have a cherry, Grandfather,’ he said, as soon as he saw his
grandfather in the garden. Grandfather took one cherry and Rakesh promptly ate the other two.
He kept the last seed in his mouth for some time, rolling it round and round on his tongue until
all the tang had gone. Then he placed the seed on the palm of his hand and studied it.

‘Are cherry seeds lucky?’ asked Rakesh.

*Of course.’

‘Then I'll keep it.’

*‘Nothing is lucky if you put it away. If you want luck, you must put it to some use.’
‘What can I do with a seed?’

‘Plant it.’

So, Rakesh found a small space and began to dig up a flowerbed. ‘Hey, not there,’ said
Grandfather, ‘I've sown mustard in that bed. Plant it in that shady corner, where it won't be
disturbed.” Rakesh went to a corner of the garden where the earth was soft and yielding. He did
not have to dig. He pressed the seed into the soil with his thumb and it went right in. Then he
had his lunch, and ran off to play cricket with his friends, and forgot all about the cherry seed.

When it was winter in the hills, a cold wind blew down from the snows and went whoo-whoo-
whoo in the deodar trees, and the garden was dry and bare. In the evenings Grandfather and
Rakesh sat over a charcoal fire, and Grandfather told Rakesh stories and in turn Rakesh would
read to him from the newspaper, Grandfather’s eyesight being rather weak. Rakesh found the
newspaper very dull — especially after the stories — but Grandfather wanted all the news.

One morning in the garden he bent to pick up what he thought was a small twig and found to his
surprise that it was well rooted. He stared at it for a moment, then ran to fetch Grandfather,
calling, ‘Dada, come and look, the cherry tree has come up!"What cherry tree?’ asked
Grandfather, who had forgotten about it. ‘The seed we planted last year —look, it's come up!
‘Rakesh went down on his haunches, while Grandfather bent almost double and peered down at
the tiny tree. It was about four inches high.'Yes, it's a cherry tree,’ said Grandfather. ‘You should
water it now and then. ‘Rakesh ran indoors and came back with a bucket of water.'Don’t drown
it!’ said Grandfather. Rakesh gave it a sprinkling and circled it with pebbles. ‘What are the
pebbles for?’ asked Grandfather. ‘For privacy,’ said Rakesh. He looked at the tree every morning,
but it did not seem to be growing very fast, so he stopped looking at it except quickly, out of the
corner of his eye. And, after a week or two, when he allowed himself to look at it properly, he
found that it had grown — at least an inch!

The cherry tree grew quickly during monsoon. It was about two feet high when a goat entered
the garden and ate all the leaves. Only the main stem and two thin branches remained. ‘Never
mind,’ said Grandfather, seeing that Rakesh was upset. ‘It will grow again; cherry trees are
tough. 'Towards the end of the rainy season new leaves appeared on the tree. Then a woman
cutting grass scrambled down the hillside, her scythe swishing through the heavy monsoon
foliage. She did not try to avoid the tree: one sweep, and the cherry tree was cut in two. When
Grandfather saw what had happened, he went after the woman and scolded her; but the damage
could not be repaired. ‘Maybe it will die now,’ said Rakesh. ‘Maybe,’ said Grandfather. But the



cherry tree had no intention of dying. By the time summer came again, it had sent out several
new shoots with tender green leaves.

One day he found a bright green praying-mantis perched on a branch, peering at him with
bulging eyes. Rakesh let it remain there; it was the cherry tree’s first visitor. The next visitor was
a hairy caterpillar, who started making a meal of the leaves. Rakesh removed it quickly and
dropped it on a heap of dry leaves. Come back when you’'re a butterfly,” he said.

Winter came early. The cherry tree bent low with the weight of snow. In February it was
Rakesh’s birthday. He was nine — and the tree was four, but almost as tall as Rakesh. One
morning, when the Sun came out, Grandfather came into the garden to ‘let some warmth get into
my bones,’ as he put it. He stopped in front of the cherry tree, stared at it for a few moments,
and then called out, ‘Rakesh! Come and look! Come quickly before it falls! 'Rakesh and
Grandfather gazed at the tree as though it had performed a miracle. There was a pale pink
blossom at the end of a branch. ‘There are so many trees in the forest,’ said Rakesh. ‘What’s so
special about this tree? Why do we like it so much? "We planted it ourselves,’ said Grandfather.
That's why it’s special."Just one small seed,’ said Rakesh, and he touched the smooth bark of the
tree that he had grown. He ran his hand along the trunk of the tree and put his finger to the tip
of a leaf. ‘I wonder,” he whispered. ‘Is this what it feels to be God?

The plot of the story revolves around the concept(s) of:
[Question ID = 13519]

1. relation between grandfather and Rakesh [Option ID = 24074]

2. hope, responsibility, perseverance and pride [Option ID = 24076]
3. how to plant trees [Option ID = 24073]

4. how to feel like God [Option ID = 24075]

Correct Answer :-
» hope, responsibility, perseverance and pride [Option ID = 24076]

2) Read the passage given below carefully and answer questions

Rakesh was on his way home from school when he bought the cherries. He paid fifty paise for
the bunch. It took him about half-an-hour to walk home, and by the time he reached the cottage
there were only three cherries left. *Have a cherry, Grandfather,’ he said, as soon as he saw his
grandfather in the garden. Grandfather took one cherry and Rakesh promptly ate the other two.
He kept the last seed in his mouth for some time, rolling it round and round on his tongue until
all the tang had gone. Then he placed the seed on the palm of his hand and studied it.

‘Are cherry seeds lucky?’ asked Rakesh.

‘Of course.’

‘Then I'll keep it.’

*‘Nothing is lucky if you put it away. If you want luck, you must put it to some use.’
‘What can I do with a seed?’

‘Plant it.’

So, Rakesh found a small space and began to dig up a flowerbed. ‘Hey, not there,’ said
Grandfather, ‘I've sown mustard in that bed. Plant it in that shady corner, where it won't be
disturbed.’ Rakesh went to a corner of the garden where the earth was soft and yielding. He did
not have to dig. He pressed the seed into the soil with his thumb and it went right in. Then he
had his lunch, and ran off to play cricket with his friends, and forgot all about the cherry seed.

When it was winter in the hills, a cold wind blew down from the snows and went whoo-whoo-
whoo in the deodar trees, and the garden was dry and bare. In the evenings Grandfather and
Rakesh sat over a charcoal fire, and Grandfather told Rakesh stories and in turn Rakesh would



read to him from the newspaper, Grandfather’s eyesight being rather weak. Rakesh found the
newspaper very dull — especially after the stories — but Grandfather wanted all the news.

One morning in the garden he bent to pick up what he thought was a small twig and found to his
surprise that it was well rooted. He stared at it for a moment, then ran to fetch Grandfather,
calling, ‘Dada, come and look, the cherry tree has come up!"What cherry tree?’ asked
Grandfather, who had forgotten about it. ‘The seed we planted last year —look, it's come up!
‘Rakesh went down on his haunches, while Grandfather bent almost double and peered down at
the tiny tree. It was about four inches high.'Yes, it's a cherry tree,’ said Grandfather. ‘You should
water it now and then. ‘Rakesh ran indoors and came back with a bucket of water.'Don’t drown
it!’ said Grandfather. Rakesh gave it a sprinkling and circled it with pebbles. ‘What are the
pebbles for?’ asked Grandfather. ‘For privacy,’ said Rakesh. He looked at the tree every morning,
but it did not seem to be growing very fast, so he stopped looking at it except quickly, out of the
corner of his eye. And, after a week or two, when he allowed himself to look at it properly, he
found that it had grown — at least an inch!

The cherry tree grew quickly during monsoon. It was about two feet high when a goat entered
the garden and ate all the leaves. Only the main stem and two thin branches remained. ‘Never
mind,’ said Grandfather, seeing that Rakesh was upset. ‘It will grow again; cherry trees are
tough. 'Towards the end of the rainy season new leaves appeared on the tree. Then a woman
cutting grass scrambled down the hillside, her scythe swishing through the heavy monsoon
foliage. She did not try to avoid the tree: one sweep, and the cherry tree was cut in two. When
Grandfather saw what had happened, he went after the woman and scolded her; but the damage
could not be repaired. ‘Maybe it will die now,’ said Rakesh. ‘Maybe,’ said Grandfather. But the
cherry tree had no intention of dying. By the time summer came again, it had sent out several
new shoots with tender green leaves.

One day he found a bright green praying-mantis perched on a branch, peering at him with
bulging eyes. Rakesh let it remain there; it was the cherry tree’s first visitor. The next visitor was
a hairy caterpillar, who started making a meal of the leaves. Rakesh removed it quickly and
dropped it on a heap of dry leaves. Come back when you’re a butterfly,” he said.

Winter came early. The cherry tree bent low with the weight of snow. In February it was
Rakesh’s birthday. He was nine — and the tree was four, but almost as tall as Rakesh. One
morning, when the Sun came out, Grandfather came into the garden to ‘let some warmth get into
my bones,’ as he put it. He stopped in front of the cherry tree, stared at it for a few moments,
and then called out, ‘Rakesh! Come and look! Come quickly before it falls! 'Rakesh and
Grandfather gazed at the tree as though it had performed a miracle. There was a pale pink
blossom at the end of a branch. ‘There are so many trees in the forest,’ said Rakesh. ‘What's so
special about this tree? Why do we like it so much? "We planted it ourselves,’ said Grandfather.
That's why it’s special."Just one small seed,’ said Rakesh, and he touched the smooth bark of the
tree that he had grown. He ran his hand along the trunk of the tree and put his finger to the tip
of a leaf. ‘I wonder,’ he whispered. ‘Is this what it feels to be God?

The author is an ardent lover of :
[Question ID = 13520]

1. cherries [Option ID = 24077]

2. grandfather stories [Option ID = 24079]
3. nature and animals [Option ID = 24078]
4. reading newspaper [Option ID = 24080]

Correct Answer :-
« nature and animals [Option ID = 24078]



Read the passage given below carefully and answer questions

Rakesh was on his way home from school when he bought the cherries. He paid fifty paise for
the bunch. It took him about half-an-hour to walk home, and by the time he reached the cottage
there were only three cherries left. ‘Have a cherry, Grandfather,’ he said, as soon as he saw his
grandfather in the garden. Grandfather took one cherry and Rakesh promptly ate the other two.
He kept the last seed in his mouth for some time, rolling it round and round on his tongue until
all the tang had gone. Then he placed the seed on the palm of his hand and studied it.

‘Are cherry seeds lucky?’ asked Rakesh.

*Of course.’

‘Then I'll keep it.’

*‘Nothing is lucky if you put it away. If you want luck, you must put it to some use.’
‘What can I do with a seed?’

‘Plant it.’

So, Rakesh found a small space and began to dig up a flowerbed. ‘Hey, not there,’ said
Grandfather, ‘I've sown mustard in that bed. Plant it in that shady corner, where it won't be
disturbed.’ Rakesh went to a corner of the garden where the earth was soft and yielding. He did
not have to dig. He pressed the seed into the soil with his thumb and it went right in. Then he
had his lunch, and ran off to play cricket with his friends, and forgot all about the cherry seed.

When it was winter in the hills, a cold wind blew down from the snows and went whoo-whoo-
whoo in the deodar trees, and the garden was dry and bare. In the evenings Grandfather and
Rakesh sat over a charcoal fire, and Grandfather told Rakesh stories and in turn Rakesh would
read to him from the newspaper, Grandfather’s eyesight being rather weak. Rakesh found the
newspaper very dull — especially after the stories — but Grandfather wanted all the news.

One morning in the garden he bent to pick up what he thought was a small twig and found to his
surprise that it was well rooted. He stared at it for a moment, then ran to fetch Grandfather,
calling, ‘Dada, come and look, the cherry tree has come up!"What cherry tree?’ asked
Grandfather, who had forgotten about it. ‘The seed we planted last year —look, it's come up!
‘Rakesh went down on his haunches, while Grandfather bent almost double and peered down at
the tiny tree. It was about four inches high.'Yes, it's a cherry tree,’ said Grandfather. ‘You should
water it now and then. ‘Rakesh ran indoors and came back with a bucket of water.'Don’t drown
it!’ said Grandfather. Rakesh gave it a sprinkling and circled it with pebbles. ‘What are the
pebbles for?’ asked Grandfather. ‘For privacy,’ said Rakesh. He looked at the tree every morning,
but it did not seem to be growing very fast, so he stopped looking at it except quickly, out of the
corner of his eye. And, after a week or two, when he allowed himself to look at it properly, he
found that it had grown — at least an inch!

The cherry tree grew quickly during monsoon. It was about two feet high when a goat entered
the garden and ate all the leaves. Only the main stem and two thin branches remained. ‘Never
mind,’ said Grandfather, seeing that Rakesh was upset. ‘It will grow again; cherry trees are
tough. 'Towards the end of the rainy season new leaves appeared on the tree. Then a woman
cutting grass scrambled down the hillside, her scythe swishing through the heavy monsoon
foliage. She did not try to avoid the tree: one sweep, and the cherry tree was cut in two. When
Grandfather saw what had happened, he went after the woman and scolded her; but the damage
could not be repaired. ‘Maybe it will die now,’ said Rakesh. ‘Maybe,’ said Grandfather. But the
cherry tree had no intention of dying. By the time summer came again, it had sent out several
new shoots with tender green leaves.

One day he found a bright green praying-mantis perched on a branch, peering at him with
bulging eyes. Rakesh let it remain there; it was the cherry tree’s first visitor. The next visitor was
a hairy caterpillar, who started making a meal of the leaves. Rakesh removed it quickly and
dropped it on a heap of dry leaves. Come back when you're a butterfly,” he said.

Winter came early. The cherry tree bent low with the weight of snow. In February it was



Rakesh’s birthday. He was nine — and the tree was four, but almost as tall as Rakesh. One
morning, when the Sun came out, Grandfather came into the garden to ‘let some warmth get into
my bones,’ as he put it. He stopped in front of the cherry tree, stared at it for a few moments,
and then called out, ‘Rakesh! Come and look! Come quickly before it falls! ‘Rakesh and
Grandfather gazed at the tree as though it had performed a miracle. There was a pale pink
blossom at the end of a branch. ‘There are so many trees in the forest,’ said Rakesh. ‘What's so
special about this tree? Why do we like it so much? “"We planted it ourselves,’ said Grandfather.
That's why it's special."Just one small seed,’ said Rakesh, and he touched the smooth bark of the
tree that he had grown. He ran his hand along the trunk of the tree and put his finger to the tip
of a leaf. ‘I wonder,’ he whispered. ‘Is this what it feels to be God?

Why does Rakesh circle the plant with some pebbles?
[Question ID = 13521]

1. His grandfather asked him [Option ID = 24084]
2. He likes to play with pebbles [Option ID = 24081]
3. To beautify his garden [Option ID = 24082]

4. For privacy [Option ID = 24083]

Correct Answer :-
» For privacy [Option ID = 24083]

4) Read the passage given below carefully and answer questions

Rakesh was on his way home from school when he bought the cherries. He paid fifty paise for
the bunch. It took him about half-an-hour to walk home, and by the time he reached the cottage
there were only three cherries left. *Have a cherry, Grandfather,’ he said, as soon as he saw his
grandfather in the garden. Grandfather took one cherry and Rakesh promptly ate the other two.
He kept the last seed in his mouth for some time, rolling it round and round on his tongue until
all the tang had gone. Then he placed the seed on the palm of his hand and studied it.

‘Are cherry seeds lucky?’ asked Rakesh.

‘Of course.’

‘Then I'll keep it.’

*‘Nothing is lucky if you put it away. If you want luck, you must put it to some use.’
‘What can I do with a seed?’

‘Plant it.’

So, Rakesh found a small space and began to dig up a flowerbed. ‘Hey, not there,’ said
Grandfather, ‘I've sown mustard in that bed. Plant it in that shady corner, where it won't be
disturbed.’ Rakesh went to a corner of the garden where the earth was soft and yielding. He did
not have to dig. He pressed the seed into the soil with his thumb and it went right in. Then he
had his lunch, and ran off to play cricket with his friends, and forgot all about the cherry seed.

When it was winter in the hills, a cold wind blew down from the snows and went whoo-whoo-
whoo in the deodar trees, and the garden was dry and bare. In the evenings Grandfather and
Rakesh sat over a charcoal fire, and Grandfather told Rakesh stories and in turn Rakesh would
read to him from the newspaper, Grandfather’s eyesight being rather weak. Rakesh found the
newspaper very dull — especially after the stories — but Grandfather wanted all the news.

One morning in the garden he bent to pick up what he thought was a small twig and found to his
surprise that it was well rooted. He stared at it for a moment, then ran to fetch Grandfather,
calling, ‘Dada, come and look, the cherry tree has come up!"What cherry tree?’ asked
Grandfather, who had forgotten about it. ‘The seed we planted last year —look, it's come up!
‘Rakesh went down on his haunches, while Grandfather bent almost double and peered down at
the tiny tree. It was about four inches high.'Yes, it's a cherry tree,’ said Grandfather. ‘You should



water it now and then. 'Rakesh ran indoors and came back with a bucket of water.'Don’t drown
it!’ said Grandfather. Rakesh gave it a sprinkling and circled it with pebbles. ‘What are the
pebbles for?’ asked Grandfather. ‘For privacy,’ said Rakesh. He looked at the tree every morning,
but it did not seem to be growing very fast, so he stopped looking at it except quickly, out of the
corner of his eye. And, after a week or two, when he allowed himself to look at it properly, he
found that it had grown — at least an inch!

The cherry tree grew quickly during monsoon. It was about two feet high when a goat entered
the garden and ate all the leaves. Only the main stem and two thin branches remained. ‘Never
mind,’ said Grandfather, seeing that Rakesh was upset. ‘It will grow again; cherry trees are
tough. 'Towards the end of the rainy season new leaves appeared on the tree. Then a woman
cutting grass scrambled down the hillside, her scythe swishing through the heavy monsoon
foliage. She did not try to avoid the tree: one sweep, and the cherry tree was cut in two. When
Grandfather saw what had happened, he went after the woman and scolded her; but the damage
could not be repaired. ‘Maybe it will die now,’ said Rakesh. ‘Maybe,’ said Grandfather. But the
cherry tree had no intention of dying. By the time summer came again, it had sent out several
new shoots with tender green leaves.

One day he found a bright green praying-mantis perched on a branch, peering at him with
bulging eyes. Rakesh let it remain there; it was the cherry tree’s first visitor. The next visitor was
a hairy caterpillar, who started making a meal of the leaves. Rakesh removed it quickly and
dropped it on a heap of dry leaves. Come back when you’re a butterfly,’ he said.

Winter came early. The cherry tree bent low with the weight of snow. In February it was
Rakesh’s birthday. He was nine — and the tree was four, but almost as tall as Rakesh. One
morning, when the Sun came out, Grandfather came into the garden to ‘let some warmth get into
my bones,’ as he put it. He stopped in front of the cherry tree, stared at it for a few moments,
and then called out, ‘Rakesh! Come and look! Come quickly before it falls! 'Rakesh and
Grandfather gazed at the tree as though it had performed a miracle. There was a pale pink
blossom at the end of a branch. ‘There are so many trees in the forest,’ said Rakesh. ‘What’s so
special about this tree? Why do we like it so much? "We planted it ourselves,’ said Grandfather.
That's why it’s special."Just one small seed,’ said Rakesh, and he touched the smooth bark of the
tree that he had grown. He ran his hand along the trunk of the tree and put his finger to the tip
of a leaf. ‘I wonder,” he whispered. ‘Is this what it feels to be God?

In the story, the Cherry tree symbolises:
[Question ID = 13522]

1. beauty [Option ID = 24085]

2. innocence [Option ID = 24088]
3. birth [Option ID = 24087]

4. survival [Option ID = 24086]

Correct Answer :-
« survival [Option ID = 24086]

5) Read the passage given below carefully and answer questions

Rakesh was on his way home from school when he bought the cherries. He paid fifty paise for
the bunch. It took him about half-an-hour to walk home, and by the time he reached the cottage
there were only three cherries left. ‘Have a cherry, Grandfather,’ he said, as soon as he saw his
grandfather in the garden. Grandfather took one cherry and Rakesh promptly ate the other two.
He kept the last seed in his mouth for some time, rolling it round and round on his tongue until
all the tang had gone. Then he placed the seed on the palm of his hand and studied it.

‘Are cherry seeds lucky?’ asked Rakesh.



*Of course.’

‘Then I'll keep it.’

*‘Nothing is lucky if you put it away. If you want luck, you must put it to some use.’
‘What can I do with a seed?’

‘Plant it.’

So, Rakesh found a small space and began to dig up a flowerbed. ‘Hey, not there,’ said
Grandfather, ‘I've sown mustard in that bed. Plant it in that shady corner, where it won't be
disturbed.’ Rakesh went to a corner of the garden where the earth was soft and yielding. He did
not have to dig. He pressed the seed into the soil with his thumb and it went right in. Then he
had his lunch, and ran off to play cricket with his friends, and forgot all about the cherry seed.

When it was winter in the hills, a cold wind blew down from the snows and went whoo-whoo-
whoo in the deodar trees, and the garden was dry and bare. In the evenings Grandfather and
Rakesh sat over a charcoal fire, and Grandfather told Rakesh stories and in turn Rakesh would
read to him from the newspaper, Grandfather’s eyesight being rather weak. Rakesh found the
newspaper very dull — especially after the stories — but Grandfather wanted all the news.

One morning in the garden he bent to pick up what he thought was a small twig and found to his
surprise that it was well rooted. He stared at it for a moment, then ran to fetch Grandfather,
calling, ‘Dada, come and look, the cherry tree has come up!"What cherry tree?’ asked
Grandfather, who had forgotten about it. 'The seed we planted last year —look, it's come up!
‘Rakesh went down on his haunches, while Grandfather bent almost double and peered down at
the tiny tree. It was about four inches high.'Yes, it's a cherry tree,’ said Grandfather. ‘You should
water it now and then. ‘Rakesh ran indoors and came back with a bucket of water.'Don’t drown
it!’ said Grandfather. Rakesh gave it a sprinkling and circled it with pebbles. ‘What are the
pebbles for?’ asked Grandfather. ‘For privacy,’ said Rakesh. He looked at the tree every morning,
but it did not seem to be growing very fast, so he stopped looking at it except quickly, out of the
corner of his eye. And, after a week or two, when he allowed himself to look at it properly, he
found that it had grown — at least an inch!

The cherry tree grew quickly during monsoon. It was about two feet high when a goat entered
the garden and ate all the leaves. Only the main stem and two thin branches remained. ‘Never
mind,’ said Grandfather, seeing that Rakesh was upset. ‘It will grow again; cherry trees are
tough. 'Towards the end of the rainy season new leaves appeared on the tree. Then a woman
cutting grass scrambled down the hillside, her scythe swishing through the heavy monsoon
foliage. She did not try to avoid the tree: one sweep, and the cherry tree was cut in two. When
Grandfather saw what had happened, he went after the woman and scolded her; but the damage
could not be repaired. ‘Maybe it will die now,’ said Rakesh. ‘Maybe,’ said Grandfather. But the
cherry tree had no intention of dying. By the time summer came again, it had sent out several
new shoots with tender green leaves.

One day he found a bright green praying-mantis perched on a branch, peering at him with
bulging eyes. Rakesh let it remain there; it was the cherry tree’s first visitor. The next visitor was
a hairy caterpillar, who started making a meal of the leaves. Rakesh removed it quickly and
dropped it on a heap of dry leaves. Come back when you're a butterfly,” he said.

Winter came early. The cherry tree bent low with the weight of snow. In February it was
Rakesh’s birthday. He was nine — and the tree was four, but almost as tall as Rakesh. One
morning, when the Sun came out, Grandfather came into the garden to ‘let some warmth get into
my bones,’ as he put it. He stopped in front of the cherry tree, stared at it for a few moments,
and then called out, ‘Rakesh! Come and look! Come quickly before it falls! 'Rakesh and
Grandfather gazed at the tree as though it had performed a miracle. There was a pale pink
blossom at the end of a branch. ‘There are so many trees in the forest,’ said Rakesh. ‘What'’s so
special about this tree? Why do we like it so much? "We planted it ourselves,’ said Grandfather.
That's why it’s special."Just one small seed,’ said Rakesh, and he touched the smooth bark of the
tree that he had grown. He ran his hand along the trunk of the tree and put his finger to the tip
of a leaf. ‘I wonder,” he whispered. ‘Is this what it feels to be God?



The status of ‘the cherry tree’ in this story can be compared today with that of a :
[Question ID = 13523]

1. birds [Option ID = 24092]
2. trees [Option ID = 24089]
3. animals [Option ID = 24091]
4. humans [Option ID = 24090]

Correct Answer :-
e humans [Option ID = 24090]

Topic:- DU_J19 Bed_T2

1) Although speech is the most advanced form of communication, there are many ways of
communicating without using speech - signals, signs, symbols and gestures - that may be found
in every known culture. The basic function of a signal is to impinge upon the environment in such
a way that it attracts attention, as, for example the dots and dashes of a telegraph circuit.

Coded to refer to speech the potential for communication is very great. Less adaptable to the
codification of words, signs also contain meaning in and of themselves. a stop sign, for example,
conveys meaning quickly and conveniently. Symbols are more difficult to describe then either
signals or signs because of their intricate relationship with the receiver’s cultural perceptions. In
some cultures, applauding in a theatre provides performers with an auditory symbol of approval.
Gestures such as waving and handshaking also communicate certain cultural messages.

Although signals, signs, symbols and gestures are very useful, they do have a major
disadvantage. They usually do not allow ideas to be shared without the sender being directly
adjacent to the receiver, as a result, means of communication intended to be used for long
distances and extended periods are based upon speech, radio, television and the telephone are
only a few of such means.,

Which of the following would be the best title for the passage?
[Question ID = 13525]

1. Dramatics [Option ID = 24100]

2. Pedagogy [Option ID = 24097]

3. Story telling [Option ID = 24098]

4. Communication [Option ID = 24099]

Correct Answer :-
o Communication [Option ID = 24099]

2) Although speech is the most advanced form of communication, there are many ways of
communicating without using speech - signals, signs, symbols and gestures - that may be found
in every known culture. The basic function of a signal is to impinge upon the environment in such
a way that it attracts attention, as, for example the dots and dashes of a telegraph circuit.

Coded to refer to speech the potential for communication is very great. Less adaptable to the
codification of words, signs also contain meaning in and of themselves. a stop sign, for example,
conveys meaning quickly and conveniently. Symbols are more difficult to describe then either
signals or signs because of their intricate relationship with the receiver’s cultural perceptions. In
some cultures, applauding in a theatre provides performers with an auditory symbol of approval.
Gestures such as waving and handshaking also communicate certain cultural messages.



Although signals, signs, symbols and gestures are very useful, they do have a major
disadvantage. They usually do not allow ideas to be shared without the sender being directly
adjacent to the receiver, as a result, means of communication intended to be used for long
distances and extended periods are based upon speech, radio, television and the telephone are
only a few of such means.,

What does the author say about speech?
[Question ID = 13526]

1. It is necessary for communication to occur [Option ID = 24103]

2. It is the most advanced form of communication [Option ID = 24104]

3. It is dependent upon the advances made by inventors [Option ID = 24102]
4. It is the only true form of communication [Option ID = 24101]

Correct Answer :-
o It is the most advanced form of communication [Option ID = 24104]

3) Although speech is the most advanced form of communication, there are many ways of
communicating without using speech - signals, signs, symbols and gestures - that may be found
in every known culture. The basic function of a signal is to impinge upon the environment in such
a way that it attracts attention, as, for example the dots and dashes of a telegraph circuit.

Coded to refer to speech the potential for communication is very great. Less adaptable to the
codification of words, signs also contain meaning in and of themselves. a stop sign, for example,
conveys meaning quickly and conveniently. Symbols are more difficult to describe then either
signals or signs because of their intricate relationship with the receiver’s cultural perceptions. In
some cultures, applauding in a theatre provides performers with an auditory symbol of approval.
Gestures such as waving and handshaking also communicate certain cultural messages.

Although signals, signs, symbols and gestures are very useful, they do have a major
disadvantage. They usually do not allow ideas to be shared without the sender being directly
adjacent to the receiver, as a result, means of communication intended to be used for long
distances and extended periods are based upon speech, radio, television and the telephone are
only a few of such means.,

Why were the telephone, radio and TV invented?
[Question ID = 13528]

1. People believed that signs, signals and symbols were obsolete [Option ID = 24111]
2. People were unable to understand signs, symbols and signals [Option ID = 24109]
3. People wanted to communicate across long distances [Option ID = 24110]

4. People wanted new forms of entertainment [Option ID = 24112]

Correct Answer :-
» People wanted to communicate across long distances [Option ID = 24110]

4) Although speech is the most advanced form of communication, there are many ways of
communicating without using speech - signals, signs, symbols and gestures - that may be found
in every known culture. The basic function of a signal is to impinge upon the environment in such
a way that it attracts attention, as, for example the dots and dashes of a telegraph circuit.

Coded to refer to speech the potential for communication is very great. Less adaptable to the
codification of words, signs also contain meaning in and of themselves. a stop sign, for example,
conveys meaning quickly and conveniently. Symbols are more difficult to describe then either
signals or signs because of their intricate relationship with the receiver’s cultural perceptions. In
some cultures, applauding in a theatre provides performers with an auditory symbol of approval.



Gestures such as waving and handshaking also communicate certain cultural messages.

Although signals, signs, symbols and gestures are very useful, they do have a major
disadvantage. They usually do not allow ideas to be shared without the sender being directly
adjacent to the receiver, as a result, means of communication intended to be used for long
distances and extended periods are based upon speech, radio, television and the telephone are
only a few of such means.,

The phrase “impinge upon” is the closest in meaning to:
[Question ID = 13527]

1. Intrude [Option ID = 24105]
2. Improve [Option ID = 24106]
3. Vary [Option ID = 24107]

4. Prohibit [Option ID = 24108]

Correct Answer :-
o Intrude [Option ID = 24105]

5) Although speech is the most advanced form of communication, there are many ways of
communicating without using speech - signals, signs, symbols and gestures - that may be found
in every known culture. The basic function of a signal is to impinge upon the environment in such
a way that it attracts attention, as, for example the dots and dashes of a telegraph circuit.

Coded to refer to speech the potential for communication is very great. Less adaptable to the
codification of words, signs also contain meaning in and of themselves. a stop sign, for example,
conveys meaning quickly and conveniently. Symbols are more difficult to describe then either
signals or signs because of their intricate relationship with the receiver’s cultural perceptions. In
some cultures, applauding in a theatre provides performers with an auditory symbol of approval.
Gestures such as waving and handshaking also communicate certain cultural messages.

Although signals, signs, symbols and gestures are very useful, they do have a major
disadvantage. They usually do not allow ideas to be shared without the sender being directly
adjacent to the receiver, as a result, means of communication intended to be used for long
distances and extended periods are based upon speech, radio, television and the telephone are
only a few of such means.,

It may be concluded from the passage that :
[Question ID = 13529]

1. Waiving and handshaking are not related to culture [Option ID = 24116]

2. Signal, sign, symbols and gestures are form of communication [Option ID = 24113]
3. Only some gestures have signal signs and symbols [Option ID = 24115]

4. Symbols are very easy to define and interpret [Option ID = 24114]

Correct Answer :-
« Signal, sign, symbols and gestures are form of communication [Option ID = 24113]

Topic:- DU_J19_Bed_T3

1) Six flats on a floor in two rows facing North and South are allotted to p, q, r, s, t and u. q gets
a North facing flat and is not next to s. s and u get diagonally opposite flats. r next to u, gets a
south facing flat and t gets North facing flat. If the flats of p and t are interchanged the flat next
to that of u will be of:



TS GfTd IR G FaR! # IR 3N 331 $ 3R gom 91 B: Wi p, q, 1, s, t 3R u B rdfed fFa ™ |

q B SR B 3R G arar e aar g ol fr s B T AT R | s 3% u 31 ol A fawdia fezmai &
G aTd e fArad € | r B u B T | i B iR o arar 3R t B IR B 3R o aran wie

firear ® | 9 p 3R t & wWie U A g 38 ¢ at u F T aTen Wi ST N, 98 R

[Question ID = 13536]

1. t [Option ID = 24144]
2. r [Option ID = 24142]
3. g [Option ID = 24143]
4. p [Option ID = 24141]

Correct Answer :-
o r [Option ID = 24142]

2) Who is the only Indian to win a Nobel Prize in a field of Science?

fam & &7 ° F9d PR Siidq 9T THHTE YR $iF 82
[Question ID = 13532]

1. Meghnad Saha/HeTe HT&T [Option ID = 24125]

2. A.P.J. Abdul Kalam/(fl'ﬁ | 3feg ] D alH [Option ID = 24126]
3. S.N. Bose/UH.T. &9 [Option ID = 24128]

4. C.V. Raman/dt df X8+ [Option ID = 24127]

Correct Answer :-
« C.V. Raman/d! gl I9A [Option ID = 24127]

3) England’s clothing traders used to buy clothes from the staplers. In this context, the word
‘staplers’ means:

TAUS & HUST ATIR] LRUAH 4 HUST @IEd U1 39 JeH # Rua’ &1 fura g :
[Question ID = 13533]

1. A person who buys the clothes with the help of smartphones/ 38T Sfad St TIE WIF & TBR HUS Tiledl &
[Option ID = 24130]

2. A person who sorts wool according to the fibers/UHT Sfad Sl =N & 3Td ¥ 3 B Siedl %‘ [Option ID =
24129]

3. The system in which business exchange was done/ 98 TaRIT foTqH TGRS 3MTEH-UGM 8idT 4T [Option
ID = 24132]

4. The process in which cotton is prepared for spinning/ag Ufshar o aH HAT &I Hdls & forT daR faar Sirar
% [Option ID = 24131]

Correct Answer :-

« A person who sorts wool according to the fibers/Q8T Sfa Sl XM & 8IS T 3T I BiedT & [Option ID
= 24129]

4) In the constitution of India, promotion of International peace and security is included in the:

HRA & AU § SiaRvrgia wifa 3R YRam F1 3ifigfs o1 3w o

[Question ID = 13531]



1. Directive principles of state policy/3Isd & =ifd A= dal | [Option ID = 24122]
2. Ninth Schedule/=dt 3/t & [Option ID = 24124]

3. Fundamental Duties/qd@ @dadi # [Option ID = 24123]

4. Preamble of the constitution/Tfaem Tt & [Option ID = 24121]

Correct Answer :-
« Directive principles of state policy/sd & ifd fACRI® @l H [Option ID = 24122]

5) Five friends, A,B,C,D,E are sitting in a circle. A is sitting to the right of C. D is sitting in
between B and E. E is sitting between A and D. Who is sitting to the right of D?

Ui fi=, A, B,C,D, EUG AhA H a3 28I A, CPH CS IR IST2ID,BIREF NI HAISTIRIE, AMRD P
ST A ABT 21 D F S B 5122

[Question ID = 13535]

1. E [Option ID = 24140]
2. B [Option ID = 24138]
3. A [Option ID = 24137]
4. C [Option ID = 24139]

Correct Answer :-
« B [Option ID = 24138]

6) The situation of Kashmir continues to be tense and difficult. People are requested to be in
their houses only. Which of the assumptions is/are true for the above statement?

I. There had been some serious incidents.

I1. People should not go to the office/ school.

II1. Normalcy will be restored shortly.

FIR o} fRAfT anft oft araqef oik gitwa 8| @ & orqRiy fvar mar 8 f5 3 oA =i 4 € 38
SWIE $Y & W # H19 W 7d srquron wE 82

I. 981 o TR weATd §3 §

I1. @1 & qWRR/ farmer A6t sir=n =y

I11. STeg g1 | fRyfa 9g1a 81 smet

[Question ID = 13534]

1. Only I is implicit/ Fad I H?ﬁ%ﬁ% [Option ID = 24133]

2. Only I and III are implicit/aﬁlﬂ 1 3R III &I'_vﬁiﬁ%ﬁé [Option ID = 24135]
3. Only I and II are implicit/3dd I 3R II 3f<f4fed & [Option ID = 24134]
4. None are implicit/?ﬁ'sf 1t srafifed 8t § [Option ID = 24136]

Correct Answer :-

« Only I and II are implicit/3ad I 3R II 3f<if+fed & [Option ID = 24134]

Topic:- DU_J19_Bed_T4

1) P,Q,R,S, T and U are members of a club. Every member plays one game where each game
being played is different from the other. There are total six games-cricket, football, basketball,
hockey, tennis and carrom. S plays football and is married to Q.

One of the two married couples in the group plays basketball and hockey

None of the women play tennis or carrom or football

R plays carrom and U plays tennis



P is the brother of U
What is the preferred sport of Q?

P,Q R, S, T 3R U T& 04 & Yo &1 370 9 TP, TP Wd Tadl ¢ aUT Tl Jal T Bd ga A
Y AT 8| P B: WA § - fbdbe, Pedid, TRPedrd, giaol, T ik 4

S peard Wadl § iR 39+ Q & fyarRa @

e & 4 RAa1fRd &S § @t wieT adbeara 3R gfa Qe &

HIs WY Aften A a1 9 a1 pedra 98 @ad! @

R &3 Qaar @ ok U g Qaar @

P, U T HTS @

Q B AT W WerT 3 Ui BT 22
[Question ID = 13539]

1. Hockey/8Ia! [Option ID = 24156]

2. Cricket/fehde [Option ID = 24155]

3. Tennis/<fA9 [Option ID = 24154]

4. Basketball/STRbaId [Option ID = 24153]

Correct Answer :-
« Cricket/fohdhe [Option ID = 24155]

2) P,Q,R,S,T and U are members of a club. Every member plays one game where each game
being played is different from the other. There are total six games-cricket, football, basketball,
hockey, tennis and carrom. S plays football and is married to Q.

One of the two married couples in the group plays basketball and hockey

None of the women play tennis or carrom or football

R plays carrom and U plays tennis

P is the brother of U

What is the relation of U to T?

P,Q R, S, T 3R U T& 04 & Yo &1 370 9 TP, TH Wd TadT & aUT Tl Jal T Bd gax A
Y AT 8| P B: WA 8 - fbdbe, Pedid, TRPedrd, giol, T iR 4

S Pedld WedT & 3N 391 Q A faarRa @

e & o fAa1Rd &S § @ U wieT abeara 3 gfa Qe &

H1s WY Aften 2 a1 39 a1 peara 98 @ad! @

R ¥ Qaar @ ok U g Qaar @

P, U T HTS @

USTTIARTIERE ?
[Question ID = 13538]

1. Brother in law/ITel/SHSIT [Option ID = 24150]
2. Brother/HTs [Option ID = 24149]

3. Wife/Td! [Option ID = 24152]

4. Husband/dfd [Option ID = 24151]

Correct Answer :-
o Brother in Iaw/FﬂFIT/Gi oIl [Option ID = 24150]

Topic:- DU_J19_Bed_T5



1) Which of the following is not an example of gender stereotyping?

frafafaa & 9 o9 91 SeY Fieagdl BT ISEI0 8] 82
[Question ID = 13585]

1. Both boys and girls are made to sit in separate rows for ensuring discipline in class\® &l | SR &MY
TG F o Aol Ud Tsfpal o1 3ierT e ufaaal § fasan Siar ® [Option ID = 24339]

2. Although boys try to monopolise the class discussions, attention is given to both girls and boys to
encourage participation\ I TS HTTd Taf H Tacal 991 &I TN Hd & Al dsihdl Ud aSPI,
I Y TEUIRTAT Y TIATRd B TR 4T T STl 2] [Option ID = 24340]

3. Only boys are being encouraged to participate in the football tournament\RI% TS®! B Feard game
I A & o Uieanfea fasar ST & [Option ID = 24338]

4. Only girls are asked to decorate the class boards\ﬁﬁ% FITS’W DI BT BT TS oI & o et S %
[Option ID = 24337]

Correct Answer :-
» Although boys try to monopolise the class discussions, attention is given to both girls and boys to

encourage participation\ TEY TSH HETTT T H TGET T BT TIN HRd § Al Teihdl Ud a8l
3T B FeHIfId & MidTRd P37 W e faar ST 8] [Option ID = 24340]

2) Which of the following is/are suitable to be considered a ‘primary source’ for understanding
concerns on nationalism in India under the British rule?

I. Abanindranath Tagore’s painting Bharat Mata

I1. Bankim Chandra Chattopadhyay’s novel Anandamath

II1. Mohandas Karamchand Gandhi’s book Hind Swaraj

IV. Sarvapalli Gopal’'s book Jawaharlal Nehru: A Biography

fafesr IRM & 98 WRA # gae F WeR! o 99eH F g e § @ 919 91/ 3 e 'mute
B 9T STt 82

I. 3Ef-sTY &R 1 Ufear uRa war

I1. §fhH O TEIUTHT $T IUUTH ATHGHS

II1. Hig-grd Hudg e &1 q&e e wre

IV. GdUTd! MUTA B J&I$ STargard Age: ,T SAUTG!

[Question ID = 13578]

1. II, 11, IV [Option ID = 24312]
2. I and II only\&dd I 3R II [Option ID = 24309]
3.1, II, IV [Option ID = 24311]
4.1, 11, III [Option ID = 24310]

Correct Answer :-
o I, II, III [Option ID = 24310]

3) Which of the following is a violation of the Fundamental Right to Equality?

i. In some homes, separate utensils are kept to be used exclusively by certain communities

ii. You have to join a school but the principal wants to know your caste and religion before letting
you join

iii. In some schools, the children of the ward councillor are not given special treatment by the
class-teacher

iv. In some villages, particular communities cannot organize a baraat procession through the
main streets of the village

e o o1 a1 gaEa & 0e SR &1 574 32
i. 70 W ¥ $ad $© Y & ARG gIRT TGN 811 aTd Tei=1 BT FARw R U= e I@1 =7
ii. 3y fpelt faemmera & STIUR TrHTEA 3T 8 Wg WHTus Suet Siifd 3R o S | gd 3muep!



FRUR T 3@
iii. T© ¥pdl H H&1-RR1ee gR1 a8-ulkug & g o fafkw gor 78l fear srar
iv. $O Tal & TS IR & AN 79 B TBT TSF TR IRIG TAId T8 HY THd

[Question ID = 13581]

1. i and iii only\ji 3R iii Bd [Option ID = 24323]
2. ii and iv only\ji 3R iv Had [Option ID = 24324]
3.1, ii, and iv only\j, ii, 3R iv Had [Option ID = 24321]
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Correct Answer :-
« i, i, and iv only\j, ii, 3R iv dd [Option ID = 24321]

4) Which of the following is a feature of Presidential system of government?

frafafaa @ @ o1 Hf Wwer ot Agufa yomedt 1 o fadvar o2
[Question ID = 13582]

1. Separation of powers\3{fIHRI BT faHTSH [Option ID = 24325]
2. Biparty system\fgaciid UuTell [Option ID = 24326]

3. Collective responsibility\dTHg® fSTGRT [Option ID = 24328]
4. Supremacy of Parliament\¥¥¢ &1 Taf=adT [Option ID = 24327]

Correct Answer :-
« Separation of powers\3(fHR] BT fAUSH [Option ID = 24325]

5) Which of the following is the assumption of the Law of Demand?

1 A @ 9 @ 1 & Rigra o1 qdemyron 82
[Question ID = 13571]

1. Demand curve must be linear\AITT Y@ FA3d R TR T-XGM (linear) i1 =1f8T [Option ID = 24284]

2. Quantity demanded should not change\HTift 773 AT ulkafda &1 g1 18T [Option ID = 24282]

3. Prices of substitutes should not change\uﬁl@lﬁ (W@ETE ) PTHA giafeld EHERIEIRY [Option ID =
24283]

4. Price of the commaodity should not change\d¥d &1 JeI dqcid ERIEIRY [Option ID = 24281]

Correct Answer :-

« Prices of substitutes should not change\JfeRIT® (Tfeege ) &1 Jeg uRafdd &l 81 dTfeT [Option ID
= 24283]

6) Which of the following plant does not belong to the family Solanaceae?

Fafafed % @ o9 a1 e Jia-a $d &1 981 82
[Question ID = 13562]

1. Potato\31T¢] [Option ID = 24245]
2. Brinjal\§7 [Option ID = 24247]
3. Beans\d&1=J [Option ID = 24246]
4. Tomato\cHICR [Option ID = 24248]

Correct Answer :-
« Beans\§=T [Option ID = 24246]



7) An excursion trip in a school involved a visit to Ziro, Bomdila, Namdapha National Park,
Tawang and Leisang village. The states which the children visited are:

TP T@d F O YA & oY, SRS, THGTET AT I, TG a1 ferwiw iq oY =nfere faa wan
et gr1 Yo g MU I=a §

[Question ID = 13575]

1. Arunachal Pradesh and Manipur/\’RKUﬂ?lFTFI%{QT QHIIﬁIER [Option ID = 24299]
2. Manipur and Sikkim/HfOrqR Ud fifded [Option ID = 24298]

3. Mizoram and Meghalaya/ﬁ\_;hw Td AUeg [Option ID = 24297]

4. Nagaland and Tripura/ﬂ?‘lﬁ?@ﬁgﬂ [Option ID = 24300]

Correct Answer :-
« Arunachal Pradesh and Manipur/3=UlTcl e U4 nﬁrgx [Option ID = 24299]

8) When firms makes an economic profit in monopolistic competition:

W9 Ui THIUPR Ufaaifar & nffe ary sard 8, a9 :
[Question ID = 13569]

1. new firms enter the industry so output increases and economic profit increases\=|'i.c W IR | TA HRAT &
YT I Sedl § 3R 3% A §gdl § [Option ID = 24273]

2. new firms enter the industry so output decreases and economic profit increases\:l"s; BH IGNT H U Bt
€ 3o IaTe gear § 3R 3 A1y §gaT & [Option ID = 24274]

3. new firms enter the industry and so the price decreases and the economic profit decreases to zero in the
long run\ T8 TH IGNT A T BT ¢ 3R FARAT HIAd g o1t § 3R et 3afy § snffes amy geas I
Bl STTaT ® [Option ID = 24275]

4. new firms make supernormal profit in the long run due to product differentiation\T3 HH IdIg NEHTT &
PR G AT H Hf3-THHT ATH ST § [Option ID = 24276]

Correct Answer :-
» new firms enter the industry and so the price decreases and the economic profit decreases to zero in the

long run\ T ¥ e H T Bl & 3R ITIT B 1Hd e oIl & 3R oelt 3rafyy 7 anffer oy geax
IR §) STl § [Option ID = 24275]

9) If PALE is coded as 2134, EARTH is coded as 41590, how can PEARL be coded in that
language?

3R PALE &1 %€ Wdd 2134 8, EARTH &1 $e Tdhd 41590 g, df fth¥ PEARL &1 3 HTWT H T Jdbd
faddsmem?

[Question ID = 13546]

1. 29530 [Option ID = 24182]
2. 24153 [Option ID = 24184]
3. 25430 [Option ID = 24181]
4. 25413 [Option ID = 24183]

Correct Answer :-
e 24153 [Option ID = 24184]



10) With reference to Indian Freedom Struggle, who of the following was the lady
representative of India at the Second Round Table Conference?

YR Tqa=dT I & Adgu #, gOrT Mo gied d Fafafaa ¥ @ o9 ura o) afger ufafafy 42
[Question ID = 13554]

1. Aruna Asaf Ali\3[UTT 3% 3fci [Option ID = 24214]
2. Vijayalakshmi Pandit\fdsiaaiga dfed [Option ID = 24215]

3. Sucheta Kriplani\?ﬁﬂm [Option ID = 24213]
4. Sarojini Naidu\SRIfSIHT IIg [Option ID = 24216]

Correct Answer :-
« Sarojini Naidu\ERIfSH! A19g [Option ID = 24216]

11) India’ s largest start-up ecosystem has been launched in which of the following states?

frafafad @ fra =0 # YR & 999 98 WId-3u uRfRufast ) R far mar?
[Question ID = 13552]

1. Kerala\@Xd [Option ID = 24205]

2. Tamil Nadu\df&@Tg [Option ID = 24206]
3. Karnataka\m [Option ID = 24207]

4. Odisha\3fIfSTM [Option ID = 24208]

Correct Answer :-
. Kerala\W [Option ID = 24205]

12) Rawsilkis:

FAT I &
[Question ID = 13556]

1. Artificial silk\@ > Y] [Option ID = 24221]

2. Wild silk\SFTeH Y= [Option ID = 24222]

3. Paper silk\h TSl BT -H [Option ID = 24224]
4. Spun silk\@TdT 3T XMH [Option ID = 24223]

Correct Answer :-
 Spun silk\&Tdl g3 39| [Option ID = 24223]

13) Statement I- Pollution leads to environmental change.
Statement II- Pollution leads to social change.
Choose the correct option:

HY I- YgUYT & TaiaRor ofkad giar 1
HYH II- YgUUl A G uikad= giar 81
'\‘Iﬁﬁmiﬁ

[Question ID = 13586]

1. Statement II is true but Statement I is false \d Y- II I % dfe Y= I Tad % [Option ID = 24342]
2. Statement I is true but Statement II is false\@Y I T § AfbT HY II TAd & [Option ID = 24341]
3. Both Statement I and Statement II are true\ ®Y- I 3R HYF 11 SH I %‘ [Option ID = 24343]

4. Both Statement I and Statement II are false\h U I 3R YT 11 IHI 39 % [Option ID = 24344]



Correct Answer :-
« Both Statement I and Statement II are true\ &Y= I 3R HY II I A & [Option ID = 24343]

14) Who wrote Philosophae Naturalis Principia Mathematica?

e firaatts ARfesy fifftar dwfes fomar ur 2
[Question ID = 13549]

1. Isaac Newton\3{Toid e+ [Option ID = 24194]

2. Augustin-Louis Cauchy\&ﬁ@?—ﬁ'ﬁt Pt [Option ID = 24196]
3. Carl Friedrich Gauss\®Tdl S8 T [Option ID = 24195]

4. Nicolaus Copernicus\fA® eI HITRI&Y [Option ID = 24193]

Correct Answer :-
» Isaac Newton\&l'l'sia$ gcH [Option ID = 24194]

15) Who discovered X-Rays?

TH- B G foaA &1 2
[Question ID = 13547]

1. Marie Curie\B¥I $RT [Option ID = 24185]

2. Pierre Curie\[0aR FRIET [Option ID = 24186]

3. James Chadwick\D. SIRT T3 [Option ID = 24188]
4. W.C. Roentgen\8sg, T [<i [Option ID = 24187]

Correct Answer :-
+ W.C. Roentgen\S&g, i1.][<I [Option ID = 24187]

16) Who among the following have been awarded Bharat Ratna posthumously in 2019?

o @ f 2019 # WRUNWRIT WRA I A Wi~ far mar?
[Question ID = 13553]

1. Sri Devi and Nanaji Deshmukh \$t ¢l Td =TSl RATA [Option ID = 24211]

2. Krishna Sobti and Bhupen Hazarika\@®T Hiafd Td YU gSlRaI [Option ID = 24212]

3. Atal Bihari Bajpayee and Sri Devi\3/cd fogR} arsodt wd ot dt [Option ID = 24210]

4. Bhupen Hazarika and Nanaji Deshmukh \@?EWQHWW [Option ID = 24209]

Correct Answer :-
« Bhupen Hazarika and Nanaji Deshmukh \YO- §STTRepT Ud TS GRIEE [Option ID = 24209]

17) Who among the following is credited for the discovery of ‘Expanding Universe'?

‘faaria giar gan seris’ @1 Wie 31 39 foed faan wimar 82
[Question ID = 13548]

1. Albert Einstein\3fesid 3T [Option ID = 24189]
2. William Herschel\faferas gfd [Option ID = 24191]
3. C.V. Raman\dt df IH [Option ID = 24190]



4. Edwin Hubble\USTaT §&d [Option ID = 24192]

Correct Answer :-
« Edwin Hubble\UEfdq g4 [Option ID = 24192]

18) Who is considered the Father of Computing?

ST BT S e HIHT ST 82
[Question ID = 13545]

1. Charles Babbage\iﬂF\“fa@Gr [Option ID = 24178]

2. Alan Turing\U& &R [Option ID = 24177]

3. John von Neumann\ﬁﬁaﬁ ?Ia:r [Option ID = 24180]
4. Sergey Brin\T¥f {3 [Option ID = 24179]

Correct Answer :-
« Charles Babbage\aT& Sa%T [Option ID = 24178]

19) In twentieth century India, novels became popular among women because:

i. they reinforced and safeguarded the traditional outlooks pertaining to womanhood

ii. stories of love- which was a staple theme of many novels- showed women who could choose
or refuse their partners and relationships

iii. it showed women who could to some extent control their lives

iv. some women authors also wrote about women who changed the world of both men and
women

Hidt 9 # uRa §, afgarsit & § ST deia g1 T |ife:

i. ¥ TN W Haftd TR eRP1vr 3t Forgy R Wiga Hd &

ii. % IUATH B qA HYFH- WA Bl J T Afgarsit o giar T g, St o= |t ar fxd gg g+
Tl off, a1 3% IRAPR B Gl

iii. IH T wfgarsit &1 fEor o1 S $9 8¢ 9% U Rigft Bt Arafe g A

iv. $° aflersl 7 R afdensit & ar & of foran forelR gow ik afgensi, G @1 gfrar gqa seht
[Question ID = 13576]

1. (i, (iii), (iv) [Option ID = 24303]

2. (iv) only/3ad (iv) [Option ID = 24304]
3. (i), (i), (iii) [Option ID = 24301]

4. (i), (ii), (iv) [Option ID = 24302]

Correct Answer :-
« (i), (iii), (iv) [Option ID = 24303]

20) In which of the following styles of dance the story/ theme is always taken from
Mahabharata and Ramayana ?

fFrafafaa 3 ¥ o @) frg Akt & favyg 7 Sl g9=T HTYRT iR IWYT J ot Srar 82
[Question ID = 13555]

1. Bharatanatyam\4RddI&IH [Option ID = 24217]
2. Kuchipudi\@Taget [Option ID = 24220]

3. Mohiniattam\Mg=13{gH [Option ID = 24218]
4. Odissi\3NTSHT [Option ID = 24219]

Correct Answer :-



« Bharatanatyam\HdHT&IH [Option ID = 24217]

21) If the door of a refrigerator is left open while connected to the power supply, the room
might:

gfe, faerelt ot myfef & Fo1 g TP Ipoer T raren Go B fear wmar §, @ 98 R
[Question ID = 13566]

1. Get hotter or cooler but it can't be predicted as the initial temperature is not given\ $& &gl ERRSIEICI]
Fifh URMYS qd T a1 a1 § [Option ID = 24264]

2. Become cooler\G3T 81 ST [Option ID = 24261]

3. Become warmer\TRH ! ST [Option ID = 24262]

4. Remain unaffected\®1g UHTd Ta! N [Option ID = 24263]

Correct Answer :-
« Become warmer\TRH &I ST [Option ID = 24262]

22) An example of 'diversity' in the following statement is:
fFafafaa # fafaear @1 ve IS8T 8: [Question ID = 13580]

1. Paritosh knows good Bangla; whereas Suchita speaks Hindi\TRaIY &1 ST 33T 3Tl %, a%’rgi%?n fgdl
Siddl 8 [Option ID = 24318]

2. Raghu does not want to include Natwar in the football team because he comes from a particular community
of society\ Ig TeaR B! Feard Bt <IH H M g BT dATgal § Rl I8 THS & U W TG I 7l
8 [Option ID = 24320]

3. Allen belongs to a poor family, while Simon's family is very rich\TaH T TRIS IRAR ¥ araT &l %, SEIcg
IrEA F1 URGR §gd 3R § [Option ID = 24319]

4. Saroj got the chance to go to school while Nirmala did not get the chance to go to school /RIS &I pd S
o1 MiepT fore STafe e &) Toa SH &1 HideT 6! fi¥aT [Option ID = 24317]

Correct Answer :-

« Paritosh knows good Bangla; whereas Suchita speaks Hindi\GRd &1 diva 3t 3t B, gt gferan &
Sl ® [Option ID = 24318]

23) Contingency Approach is a method of Management:

TR BT TVBIU Uatd $t T faf¥y 2:
[Question ID = 13559]

1. Where the departments are divided into subsystems\sgT faHmT &1 Iu-yonferat & fywfora favan smar 8
[Option ID = 24233]

2. Where the inventory or stock governs the activities\STgT s@'cff 1 T Tafafial o Fifd fear smar g
[Option ID = 24234]

3. Where decisions are made at the top level\STgT =Y TR U fAufy forT §I1d @ [Option ID = 24236]

4. Entails using different approaches to problems\FH3{f & fafts ddie! &1 IUTNT o= g fhar oirar §
[Option ID = 24235]

Correct Answer :-

« Entails using different approaches to problems\gHm3ft & faftrs aie! &1 ITanT R g fohan Sirar &
[Option ID = 24235]

24) Mohit was born on March 3, 1960. Sabeena was born 6 days before the Mohit born. If in that
year the Republic Day falls on Sunday, then find on which day Sabeena was born?



Hifga 3 arf 1960 F1 AT g ATl T, Aifga J 6 foT g Uer1 g8 i af 7 af o Reaw AR
P U1 81, 9 F a1 e & P9 A w dargs At 2

[Question ID = 13544]

1. Monday/‘v'h'ﬁra'R [Option ID = 24173]
2. Friday/Y[shdR [Option ID = 24176]

3. Thursday/dgwufdar [Option ID = 24175]
4. Wednesday/d¥dRR [Option ID = 24174]

Correct Answer :-
» Wednesday/g¥dR [Option ID = 24174]

25) Special types of roots found in Cycas that fix nitrogen is called:

I (Cycas) A faRY YR Ft 9IS UTS w1l & ot ATgeie RS0 H3dl § 32 T Hel ordl 3:
[Question ID = 13560]

1. Stilt roots\Reee TS [Option ID = 24240]

2. Coralloid roots\®RRTAIgS STs [Option ID = 24239]

3. Adventitious roots\USACRIAY SIS [Option ID = 24237]
4, Pneumatophores\ﬂiﬂilﬁfﬁw [Option ID = 24238]

Correct Answer :-
« Coralloid roots\®RTdIsS TS [Option ID = 24239]

26) Consider the following statements:

(Name of shifting cultivation) (Region where it is practiced)
I. Masole Congo

II. Roka Brazil

II1. Jhumming North East India

IV. Chengin Malaysia

Identify the correct statements:

frrafafad Y= W IR a3:

(H Wt BT 1) (9% &= STgT §/ YT ATl ©)
I. A9 S

IL. AT m}ﬂ%

III. SIf¥ v sfear

Iv.g Hafrmr

el HYAT B UgaH:

[Question ID = 13572]

1. Iand IV only/ ad I 3fR IV [Option ID = 24287]

2. LII and III onIy/W I, 11 3R III [Option ID = 24285]
3.1Tand IV onIy/%Fr I1 3R IV [Option ID = 24288]

4. 11 and I1I only/&ad II 3R III [Option ID = 24286]

Correct Answer :-
o III and III onIy/av_d?*l I,1I 3R III [Option ID = 24285]



27) Imagine you were a non-Jewish German woman in the first half of twentieth century. Which
of the following statement (s) could have been a reality in your life?

I. You were taught to be steel hearted and aggressive

I1. At the age of 14, you joined the Nazi youth organization

III. You were awarded a silver cross for producing six racially desirable children

U1 PIfTE 6 3y fiadt gt & yafed & v R-agd sl afgen | Fafafea & s arsu=
3TYF S Bt FRAfaH T gt THdl 82

I 3MUH! TR fa 3R mprve g1 Rramar war 1|

II. 14 99 &1 AT § 3T ATeit JaT WS | S g 1”7 |

II1. 3TUH! B: 7T qifsd g2 Vg1 31 F fore ver Tora wpia § qwr=a far mam)

[Question ID = 13579]

1. III only\&dd I1I [Option ID = 24316]

2. 1 and II only\®dd I 3R II [Option ID = 24314]

3. I only\@&dd I [Option ID = 24313]

4. 11 and III only\&dd II 3fRR III [Option ID = 24315]

Correct Answer :-
o III onIy\W III [Option ID = 24316]

28) is a ‘positive check’ on population growth, according to Malthus.
TR & YR, -=---nmmmmmmmmmmmmmmnn W@ gf B AP HT Uh ‘Uipfad AR 8| [Question ID =
13587]

1. Sexual abstinence\d T4H [Option ID = 24347]

2. Contraceptives\fARI&®! T XU [Option ID = 24346]

3. Famine \3{hId [Option ID = 24345]

4. Postponement of marriage\ﬁﬂ]’s’ D1 BT [Option ID = 24348]

Correct Answer :-
o Famine \3{®Td [Option ID = 24345]

29) For seeing objects at the surface of water from a submarine under water, the instrument
used is:

T & R T gt @ Ut #) T W awgs 3 dum & g, sxaura fhar we arar Susi @
[Question ID = 13551]

1. Telescope\gsil [Option ID = 24202]

2. Spectroscope\WUd e T [Option ID = 24204]
3. Periscope\aﬁﬁﬂf{ [Option ID = 24201]

4, Kaleidoscope\m [Option ID = 24203]

Correct Answer :-
« Periscope\UR™®IT [Option ID = 24201]

30) Eugenics is a study of :

gforfea te s B
[Question ID = 13583]

1. group of people of European origin\gRIita Jd & AN &I THg [Option ID = 24332]
2. studying plant genetics\ Ulcd Giﬂ'q"ﬁlﬁ DT HAYY [Option ID = 24329]
3. studying different races of mankind\HTHd STfd &1 faf¥a USTIerdl &1 3{ega+ [Option ID = 24330]



4. improving the human species\ﬂmmﬁlﬁﬁﬁm [Option ID = 24331]

Correct Answer :-
e improving the human species\WGﬂWﬁtﬁ | JUR [Option ID = 24331]

31) Why does a Cricket player while taking a catch moves his hands in the direction of the ball's
momentum?

fopdpe TS TP $9 ad THY U 1YY B MfadE A B fozm & wuf AP Siran 82
[Question ID = 13565]

1. Increase time of impulse\&ﬂaﬂ hI JHT Ero!ﬁ & fog [Option ID = 24257]
2. Increase the area of Force\&d &1 &7 ¢ & fald [Option ID = 24260]
3. Take catch safely\&vd TR =4 ¥ UhsH & faIT [Option ID = 24259]
4. Decrease time of impulse\Gﬂﬁ’T P gAY UM & forg [Option ID = 24258]

Correct Answer :-
« Increase time of impulse\3{TaT &1 THT FGH & T [Option ID = 24257]

32) Traditionalist Society has
IR AT § §141 § [Question ID = 13584]

1. Particularistic values \ﬁﬁﬂ? T [Option ID = 24335]

2. Uniformity\H®UdT [Option ID = 24333]

3. Standardized aspirations\HH®Idd UG [Option ID = 24336]
4. Abstract values\a{ﬂﬁ T [Option ID = 24334]

Correct Answer :-
« Particularistic values \fafT¥ T [Option ID = 24335]

33) Read the following statements and select the most appropriate answer:
i. Humus content of laterite soil is low.
ii. Laterite soil develops in areas with high temperature.

fFrafafad sy & 1 ik Tad Iugad W gH:
i) Aexrse ) o ggu &t urn su i B
ii) I ATTH aTa & § devrse ) R e 2

[Question ID = 13574]

1. Both statements are true and ii is the reason for i\GHI &Y T g 3R i FT PR i § [Option ID = 24295]

2. Both statements are true but ii is not the reason for i\ﬁ‘ﬁ YT IJg %‘ QA | BT BRI i :@% [Option ID =
24296]

3. iis true and i is false\i I g 3R ii 3 § [Option ID = 24293]

4. iis false and ii is true\i GMT\’I% 3R i W% [Option ID = 24294]

Correct Answer :-

« Both statements are true and ii is the reason for i\l HYUT Td & 3R i BT BRI i & [Option ID =
24295]

34) Imagine you were staying in a Chawl in Bombay during the colonial period. Which of the
following would have been part of your surroundings?

I. Large number of people living in shared rooms

I1. A large population of people belonging to oppressed and lower classes



II1. Streets and neighbourhood being used for a variety of activities such as cooking, washing
and sleeping
IV. Liquor shops and Akharas in any open spot

FHoUAT BT [P 37 uf~afRkre o1 # 4as @1 v arclt & Farit €1 e 3 § 919 9 $Y4 s
uf¥a=r &1 guifd?

I. 919 R0 # 389 aral @ & iftres T=m

I1. IdifSd wd o ot & safaadl @1 ag-wen

111. faftrs nfafafRray S} @ T 99/, U 91, iR 1 F RO Ts! 3R 3MY-USI $Y S8 &1 START
IV. IR B GHHI T4 TSI BT GA VM W §HT

[Question ID = 13577]

1. I, IIT and IV only [Option ID = 24306]
2. IT and III only [Option ID = 24307]

3. II, ITT and IV only [Option ID = 24308]
4. 1, IT and III only [Option ID = 24305]

Correct Answer :-
o I, III and IV only [Option ID = 24306]

35) Dyslexia refers to individual’s difficulty in:

RifRrar § ve Afed &) |1 $9 § SISTS gt 22
[Question ID = 13558]

1. standing\®s & [Option ID = 24232]

2. expressing\cddd HH [Option ID = 24231]

3. speaking\&@ [Option ID = 24229]

4. reading and writing\Ug+ iR foRa= [Option ID = 24230]

Correct Answer :-
 reading and writing\tlﬂﬁ 3R feram [Option ID = 24230]

36) The Earth is an oblate spheroid and not a perfect sphere. This is because:

1. The earth has a rotational motion and the rotational speed increases as one goes from poles
towards the equator

2. The equator experiences greater gravitational pull from the sun

3. The intensity of the sunlight received at the equator is greater than that at the poles

Tt BT THR U MATHR 7 FIBR TUCT-HSTHR & Ffh

1. gt Y yoff 7fy gt @ ok Suet ouff wfer ga & ymeavar @Y ok Jedt @

2. HHURET G4 $T [EaHYU g 3ATid Hegd &l 8
3. g vyt ot dgar Y F af e yrerEr w e g @

[Question ID = 13573]

1. 1 only\ddd 1 [Option ID = 24289]

2. 3 only\&ad 3 [Option ID = 24291]

3.1, 2 & 3\&dd 1, 2 3R 3 [Option ID = 24292]
4.1 & 2\ Had 1 3fR 2 [Option ID = 24290]

Correct Answer :-
« 18&2\%dd 1 3R 2 [Option ID = 24290]



37) The statements true on ‘Minimum Support Price’ (MSP) are :

i. It is fixed by the government for purchase of agricultural produce from the farmers

ii. In the event of a fall in market price, this acts as a support mechanism to the farmers

iii. It is usually fixed below the prevailing market price

iv. Its major objectives are to support the farmers from distress sales and to procure food grains
for public distribution

AT U R IR T8 YT S A 32

i. fparl @ Y Iwre TeA & o IR gRT a9 $t 15 gAaq BIud

ii. IR Fd A fiRTae 3t RAfG & g8 framt & fog aud= a3 &1 o1 #=edt

iiii. TTHTA: 98 UIferd IR S1Hd | H 99 B A1t @
iv.sﬂ;maﬁmﬁmﬁﬁﬁmﬁqﬁﬁeﬁ?mﬁw%ﬁmm%mmﬁ
HAT

[Question ID = 13570]

1. (i), (ii), (iii) [Option ID = 24277]
2. (i), (ii), (iv) [Option ID = 24280]
3. (i), (iii), (iv) [Option ID = 24279]
4. (ii), (i), (iv) [Option ID = 24278]

Correct Answer :-
o (i), (ii), (iv) [Option ID = 24280]

38) The iron requirement for a pregnant mother is:

et w7 & e fPaa SmRA ot AP dr 2:
[Question ID = 13557]

1. 45mg\45 .. [Option ID = 24228]
2. 25mg\25 .31, [Option ID = 24225]
3. 30mg\30 i3, [Option ID = 24226]
4. 38mg\38 fH.9T. [Option ID = 24227]

Correct Answer :-
« 38mg\38 .1, [Option ID = 24227]

39) The human eye can focus objects at different distances by adjusting the focal length of the
eye lens. This is due to:

UG 3, 3T & AF Pt BIbd daTs HI THTAIST B fAfid g8t 3t axgail R Hia % aodt 81 98
for® PRU g 8, 9% @

[Question ID = 13564]

1. near-sightedness\M&¢ P [Option ID = 24255]
2. far-sightedness\@R f¥ [Option ID = 24256]

3. presbyopia\SRTgR< B [Option ID = 24253]
4. accommodation\gHTISH [Option ID = 24254]

Correct Answer :-
« accommodation\FHTISH [Option ID = 24254]



40) The mechanism of ensuring genetic continuity in Mitosis takes place through:

iR # srgaife fFRawar gfia o &1 @ e & & frad wive grar 82
[Question ID = 13561]

1. An identical chromosome number of the two daughter ceIIs/'cff SSIld PIRTBTSA B Th JHT TJUA AT
[Option ID = 24241]

2. Crossing-over and exchange of genetic material\[dF# g Td anaa&m A BT 31GH-UGH [Option ID =
24243]

3. Formation of cells with 2N number of chromosomes\T[ORET &1 2N AT ATl HIfRABTSH &1 fAT0T [Option ID
= 24242]

4. Formation of two daughter cells with identical kind of DNA\YTHIT K U CINIEA] SESIG PHIRADBIA BT T34
[Option ID = 24244]

Correct Answer :-

« Formation of two daughter cells with identical kind of DNA\STHT SIUAT dTcll &1 3ISid BIRIBTSH BT T6
[Option ID = 24244]

41) The mission launched by the Indian government to develop capacity among people to enable
them to find a job or become entrepreneurs is called:

mgwwasmﬁmﬁm&msﬁmﬁmﬁwuﬁ@maﬁ%muﬁu%mm
Jele:

[Question ID = 13568]

1. Skill India \@Td YR (P fSAT) [Option ID = 24269]
2. Clean India\ Y@ YRd (- /S4T) [Option ID = 24272]
3. Digital India \f&fStea f&ar [Option ID = 24270]
4. Make in India \ﬁ$s:r s’%m [Option ID = 24271]

Correct Answer :-

« Skill India \®Td HRd (RRFa M) [Option ID = 24269]

42) The soap molecule has a

A S JYAFITE
[Question ID = 13567]

1. hydrophobic head and a Hydrophilic tail / STa-farmft =i qur STa-3eht ﬁ;@ [Option ID = 24266]

2. hydrophobic head and a hydrophobic tail / STa-farTt =fief Gt ST@t-farTit 4 [Option ID = 24267]
3. Hydrophilic head and a hydrophobic tail / STa-IFft %Y Gt Sa-faRFR U@ [Option ID = 24265]

4. Hydrophilic head and a Hydrophilic tail / -l =i aur Sra-Ieh ﬁ;@ [Option ID = 24268]

Correct Answer :-
« Hydrophilic head and a hydrophobic tail / STa-It =fief gt S/a-farwft U [Option ID = 24265]

43) The plastids in which materials such as starch, oils and protein granules are stored:
wRRes forad W, 99 ok Wid wivrewrs St arrh Trda gt &:
[Question ID = 13563]

1. Gerentoplasts\SReI@REH [Option ID = 24252]



2. Leucoplasts\[eRIHIRed [Option ID = 24249]
3. Chromoplasts\shHITREH [Option ID = 24251]

4, Chloroplasts\affﬁﬂw [Option ID = 24250]

Correct Answer :-

« Leucoplasts\[-®TReH [Option ID = 24249]

44) Forest Research Institute is located in:
T AT WA R 3:
[Question ID = 13550]

1. Bhopal\HITd [Option ID = 24197]

2. Lucknow\d@3 [Option ID = 24198]
3. Shimla\fRIHaT [Option ID = 24199]

4, Dehradun\é‘e’ﬂﬁ [Option ID = 24200]

Correct Answer :-
« Dehradun\cgx & [Option ID = 24200]

Topic:- DU_J19 Bed_T6

1) TR &1 U A feu usl & Iwv Sifor:

ddi It Ft 3 eTa § S AfFAd ygH, TS gURA R foreq 9t ffurea #= @t ff, 398 e am
IHa g@rad gad &1 Wt 3] sfier uRar A a1 g3 oo iR 3¢ 58t 984 &1 u¢ & fAawl &1 s
3R e ure wA Ft srgafa 78 A | e ufdnd e & SeRadl R A puRe FF s ug A s
T B YUBHR IR R & a7 iR 3RSl F1 e &) 15 e B 3T A IAPT 9Lt T8 B I S R
39 919 - AT DI d13Y ITa-faarg &1 faRieht o= f&ar| 1898 ¥ 16 A1@ $t THwT Ft AT TRBRT
IR, VUG TE@TTd ga-1 A g Y | I617 Thar o1 fRiem 9t &t | 1909 ¥ o[ ufd 1 da & 50
g a1g €Y IR UNTaR ¥ gaau asfeal @) Rien & e ugen wwa Gar| asfeal @ Rign & @t
IAP! WA 3N [T BT YR At A | 396 IR asfeal & fore Rgn safte st ffr a
amﬁsa'rﬁaﬁq%aﬁvamﬁwuﬁw%mgw‘rwﬁmqsﬂ ST AT AT fF 9 3R T W
ST §Y < cafad SaTeT gR a TG off AdhdT, I g SRR 3meft Smardt deft g Y AT ST St A o
TPpdl| 9P ifal¥ad I P8 & 3T a@ i o, St gara: oi7-uToT given § § A| 39 Ry o
TRIT Y™ BT JYAT Th THT IUAT ¢ &l 98 SR, TS 3R aHYu 71 & g8 w1fd Frar @ fo
it 1 Tfeat F eival F e W §, a1 3ikal I o9 saaeR #1 Suiic # i @ 98 e smdg
3R er=aragut 8| g iR fade & ara # afgarsi @ goul & 79 $RP v & fYare o ab St
8- 2 3t A STET drpdaR BT 8, TR S0 P! 301 S 8T1dY 781 811 3a1| afgenai 3 erva
ARFRI BI AHR Igd ATRATE! TR, FORTA 7Y 39 W 3141 8 1T | 3 SUUTH § FHAT 39 ARIarc!
TP BT MU Fert &, Forad g Real, uspfa 3k 1w 3t uep et 8 ufvurer et 8 se e &
S QT $I dpaaR g9 | T A 99 A dfe My A @it g3 A 98 R € fr FQ qaoie iR
Soll &1 FxauTa FrTore wael uR R wear 8] sivd fasrelt &1 v @ siaq & e wwdl| 39 ur
ot Y o= geum a1 € & U gre & e @A &1 7 8 JHa giar ok A € @i | s g A ud
FAE™ # Hifa 3 o T A STy ge-9-Fg W g1 1| 3Rl gIRT gars o arelt 39 g A |
B B Iolr & forg H1E og A 3R 7 & IRunffaY #Y #eg 31 A SR fpar Simar un|

SR e A 3meft mardl’ xreg 1 wART fbam T 3:
[Question ID = 13590]

1. Jaitg o1 ot & AW [Option ID = 24359]
2. Afgar aif & g [Option ID = 24358]
3. SIS a¥f & ol [Option ID = 24360]



4. 339 1 & foT€ [Option ID = 24357]

Correct Answer :-

. AR ¥ & Y [Option ID = 24358]

2) TRIRI & Ugh? A 2T usl & I Siford:

THdi It Ft 3 eTa T S AfFATd ygH, TS gURA R foreq ) ffurea o= @t ff, 398 e am
IHa gErad gad &1 Wt 3] sfier uRar # a1 g3 oo 3R 3¢ 5t 984 o1 ue & fAawl &1 dis
3R Rrem ure wA Ft srgafa 78 A e ufdnd e & SeRadl R A puRe FF s ug A s
T B YU R R & a7 iR 3FISh F1 Rem &) 15 T B 3T A I 9Lt T8 Bt I & AE R
39 910 + AT BI d13Y ITd-faarg &1 faRieht a1 fear| 1898 ¥ 16 A1@ $t THwT F AT TRBRT
SR, VUG TE@TTd ga-1 A g it | I517 vhar o1 fRien 9t &t | 1909 ¥ A ufd F da & v
g a1g € 3R UNTaR ¥ gaau asfeal @) Rien & Rre ugen wwa Grar| asfeal ) Rign & )
IAP! WaFAdT 3N WA BT YR Al A | 396 R dsfeal & fore Rgn safore st ffr a
amﬁsaﬂﬁaﬁq%aﬁvamﬁwuﬁw%mgﬂ‘rwﬁmqm BT AT AT fF 9 3R T W
ST §Y < afdd SaTeT gR a® TG off AdhT, I g SRR el Smardt deft g Y AT et 3t Y o
TPpd1| 9P ifaliad I #8 e 3R a@ i o, St gara: wi7-uTeT given § § A| 39 gRy for@n
TRIT YT ST JUAT Th THT ST g &l 98 SR, TS 3R ahYut 71 & I w1fid Hrar @ fo
it 1 Tfeat F eival F RrierR) W §, a1 3ival | o9 saaegR #1 Suiic # i @ 98 fra- smmdg
3R er=aragut 8| i iR fade & ara ¥ afgarsi @1 goul § 79 $RP v & fYare o ab St
8- 2 3t A STET drhdaR T 8, W S0 IP! 301 S 8141 781 811 3a1| afgenai 3 ervq
ARFRI B AHR gd ATRATE! aRl, ORI 7Y 39 W 3141 8 1T | 3 SUUTH H FHT 39 ARIarc!
TP BT MU FRe &, Forad g9 e, uspfa 3k v 3t usp et 8 ufvurer fradt 8 se e &
7S AT $! dIpaaR g9 | T A 99 A dwfe My A it g3 A 98 R § fr FQ e ok
Solt BT SEAATA TG dae W AR Har 8| SiRd fasrelt &1 v Wa S+ & g el | 39 U
ot 3t o g a1 € & U gpe & T @A &1 71 8 JHy gian ok 7 € @i | s g A ud
TAE™ # Hifa 3 o T A STy ge-9-Qg e g1 1| 3Rl gIRT gars o arelt 39 g AT A |
B 1 Iolr & forg H1E sg A 3R 7 € IRunffaY 3 #eg 31 A SR fpar Sirar un|

feared’ &1 3 82
[Question ID = 13593]

1. QRIS [Option ID = 24371]
2. V4T [Option ID = 24370]
3. Johdl [Option ID = 24372]
4. Y¥dTI [Option ID = 24369]

Correct Answer :-
o YFdl [Option ID = 24369]

3) TR B UgHR 1 feu usl & I e

THrdi It Ft Y eTa T St AfFAd ygH, TS gURA R e 3 ffurea o= @t ff, 398 e am
IHa gErad gad &1 Wt 3] sfier uRar # a1 g3 oo iR 3@ 5t 984 &1 u¢ & fAaHl &1 dis
3R Rrem ure wA Ft srgafa T8 A | e ufdnd e & SeRadl R A nuRe F s ug A s
I B YUDHR W R & a7 iR 3FISh F1 Ren & 15 T B 39 A I 9Lt T8 B I MG 3R
39 91 A IHAT DI A8 1a-faarg &1 faidt a1 faar| 1898 W 16 W@ &1 THwT Bt TS WRBRT
IR, VUG TE@TTd ga-1 o g Y| I617 Thar o1 fRien 9t &t | 1909 # o[ ufd F da & v
7EHT 91¢ €1 I UNTAQR ¥ quad asfeal 3t e & i ugen woa @ar| dsfeal @ Rream & at
ISP TqaTAaT R WRET $T ATYR AT A | I9F AR dsihal & fg Rien gafew s G fr a
ST 3BT A Sff T SR U YT TyuT & fore goel wR R 71 ¥ | 3991 arean ot fh 99 SR T R
ST §Y <t cafdd SaTeT gR a® TG off AT, I g SRR el Smardt deft g Y AT et St E o
Tpd1| 9P faliad I #S W& 3R a@ i R, St gara: oi7-uTer given & § A| 39 gRy o
TRIT YT BT JUAT Th THT ST g 9l I8 SR, TS 3R ahYu 71 & I w1fia Hrar @ fo



St STH i ¥ ival Bt R 36 2, a1 ival | R wagR @t Sufie $t ot @ a8 feaqn smmda
3R erurayef B 9 i fade & Ara & Afiteal @) goul A $H P P P e o ad St
2- 2 3MeHt A WTeT IIHdaR T 8, W A SUB! U1 HUR Tt 781 g Tar| afgensit 3 s
RFRI B! AHR Tgd ATIRATE! a=lt, R T 39 W 141 71 Y| 39 SUUTH § FHAT 39 ARIarc!
TRBIT BT YT FRIA B, Forad Sur fexal, upfa o w10 B v sre € uivuTr fradt 3| S &
HE A1 D) drbaar g | o A q9 Afgard asnfe iy & @it g€ 6| 98 R € 5 $ doie ik
Foll &1 g JrTore Haell wR iR wwar 8| iR faorelt &1 v @a siieq & e wedf| 3979
ot ot Tfie gu 91 R & Uw gwe & T @s+ &1 7 €1 awy g ok 9 €t ared | $9 g d HE
FAFET # Wi A 3R Jae § SRy We-9-We W 8 T4T| SRdl gRT Ia1s o1 arelt 39 gHar # 1
B B Jor & forg F1E w18 A 3R 7 € xRunffal #Y weg 39 A SR fpar Swar un|

[Question ID = 13591]

1. TRYATE} 2D § THIFAT [Option ID = 24361]
2. sifcgurdard} [Option ID = 24362]

3. Hoital [Option ID = 24363]

4. 3/aHYUf [Option ID = 24364]

Correct Answer :-

o Tiaret EfPHI0 I THIRAT [Option ID = 24361]

4) TR B UgH A2 g vt & IR difen:

Tt T F 3 ena A S AfFad uen, TS gURA R Rreq Y f{urea w3 @ ff, 398 e am
FHWT FE@Iad ga= &1 it §| TR TRaR # Ul §5 ST 3R I 981 981 $I UG & -] 3t dig+
3N e urd HA B srgufa A8t A | afe ufddt Rren & Ierard g=iF A wvifaa 39 a8 uig A 3F
1 B GUPR W R & i@ iR il B Rren & 15 T # 39 F 3P 9 954 F1 WS B MG SR
39 914 A IHWT B! A9 I1a-faare &1 faid 511 fear| 1898 W 16 W@ &1 THwT Ft qTE WRPRL
PR, VUS TWad g4 A & T | I THa Pt g ot Tt | 1909 # 3R ufey 1 M & $o
I 91G g1 361 URTAYR B GO asidbdl ot 1&g & e ugen wpa @iar| dasfeal o1 Rign ot at
I AT 3R TWRIT BT STYUR At ff| 399 SguR asfeal & fig Rign suftw wsd A fer a
ST FTBT A Sff T SR U UROT T9UT & e goel W R 7 ¥ | 3991 9T o1 {6 99 s T R
dYT B T saTeT R a9 T8l o AT, o g 3R et srard @<t g O wHte Sarer St A o
TPdT| 39P ifaf¥ad I B8 & 3N o i o, Y Jerer: S17-HToT given & € & | 39 gR1 e
TRT Yo $T WIAT TP VAT YT 3 S 93 ST, AT 3R adbyuf ¢ & a8 wifda srar g %
Wt PTH i ¥ sival Bt R 36 2, a1 ival | o aagR @t Iufie $t 9t @ a8 fbaqr smmda
3R erurayef B 92 i fade & Ara & ARResl &) [oul A $H P P P e oo ad St
§- IR ATl | ST ATHaaR BT 8, W T ITB! (U SHUR gTd1 7181 oA <ar| Afgansit 3
SRFRI Bl AHR Tgd ATIRATE! A=, ORI T 39 W 141 71 Y| 9 SUUTH § FHAT 39 ARIarc!
TP BT TUTH FRet 7, Forad garit Real, upfa ok & 3t uep et 8 ufvurer fradt 8 se e &
HE A1 ) drbaar g | o A q9 Afgard anfe iy & @it g€ | 98 R € 5 $ doie ik
Folt BT SAT oI Tae wR R sar 8 oiRe faerelt &1 waivn @ siian & g wedl| 39 U
et ot Tfie gu 91 ER & U@ gwe & T @s+ &1 7 €Y awy g ok 9 €t ared | 9 g d |E
TE™ § a3 3R Tue § JRTY Ge-9-Fe W g1 1| 3Rl gIRT Iers o areft 39 gt | 7
B B Jo & forg P w8 A 3R 7 € xRunffal #Y weg 39 A SR fpar Smar un|

[Question ID = 13592]

1. YRUR® [Option ID = 24368]

2. 3[OTIYUf [Option ID = 24367]

3. A4 [Option ID = 24365]
4. 3{fgqd [Option ID = 24366]



Correct Answer :-

. 3ffgq® [Option ID = 24366]

5) TR P Ugx i o usl & Iwr difvm:

THdi It Ft 3 eTa § S AfFad ugH, TS gURA R foreq 9t ffurea o= @t ff, 398 e am
IHa g@rad gad &1 Wt 8] sfier uRar # a1 g3 soam iR 3@ 5 984 &1 ue & fAaHl &1 dis
3R Rrem ur w1 Ft srgafa 78 A e ufdnd e & SeRadl R AguRe FF s wg A sA
1 B U W R & i@ 3R el B Rren & 15 T Y 37 F 3P 9t 784 F AL 8 TE SR
39 919 A AT $I d13Y ITd-faars &1 faRieh o= fear| 1898 ¥ 16 T1@ $t THwT Ft AT TRBRT
IR, VUG TE@TTd ga-1 A g Y| I617 Thar o1 fRien 9t &t | 1909 ¥ o[ ufd F da & v
g a1 8t S8I1 UTITaqR § gOaH asfedl @ Riem & e ugen voa @ar| asfeal ot Rren ot at
ISP TqaTaT 3R WRET $T ATYR AT f | I9F AR dsihal & fg Rian gafew s f v a
ST 3BT A Sff T SR U YT TyuT & e goel wR R 7 8f | 3991 arean o1 f6 99 iRt R
dUT g1 Y i SaTeT g¥ % 81 off Aohdl, a9 € R et arardl deft gt o TS sarer It g o
FHdT| 5P fARad I B3 R R a@ R, St Jera: S-HwT given A € &) I7® gR1 Rran
TRIT YT BT JYAT Th THT ST ¢ &l I8 SR, TS 3R adhyul &7 & g w1fid srar @ fo
St BTH Afedl A eival Bt KR! 36 2, a1 3ivdl | O/ gagR o1 IRile $t 9t @ 98 fea-r smrdg
3R eruTayf 8| 9fF 3 fade & wra & Aftenel &) oul A $H P P P e e ab it
8- I 3meHt | STeT drpaa 8T 8, W S0 SHS 30 HWR grdl et g &a1| Afganaii 3 oA
RPRI B! AHR Igd ATRATE! aRl, ORI T 39 W 3141 8 1T | 3 SUUTH H FHAT 39 ARIard!
TP BT MU Fe &, Forad g Real, uepfa 3k v 3t uep et €Y ufvurer fradt 8 se e &
S QT $! dIpaar g9 | T A 99 A duie My A @it g3 A | 98 R € fr FQ qaoie ok
ol &1 FxauTa FrTore wael wR R wear 8] sivd fasrelt &1 v @ sieq & e wwdl| 3979 U
ot 3t o= geum a1 € & UH gpe & e @A &1 7 8 JHy giar ok A € @i | s g A ud
FAEE # Hifa 3 o T A STy Ge-9-Fg W g1 1| 3Rl gIRT Iars o arelt 39 gfar o
T BRI B I & T F1F g At iR 7 g IRonfAal @) deg 3 | SHR fHar wrar an)

IHWT P AJAR ASiHhal B e ot At
[Question ID = 13589]

1. i d U TUTHIAIT TRIRATT JHToIS FSFHGIRG! ST UTa @R ddb [Option ID = 24353]
2. O 9 Wraasl Td AR &9 9 [Option ID = 24354]

3. dIft 3 30 &= &I UgT ¥ab [Option ID = 24355]

4, difer 9 ATAIISIG SMATSHI § 30+ Ufd & TH®E Wal g1 Jdb [Option ID = 24356]

Correct Answer :-

. aIfs 9 TTadet Td AR §9 9 [Option ID = 24354]

Topic:- DU_J19 Bed_T7

1) TR &1 Ygd? A feu vl & I Sifor:

a7 fPT T G IR F AR A&y, favaas, Rievmmd iR snea TR A gt | fage Rien &
& # fpg e T, TP IR ST TR R wreui & fAvd 3o gl & srgHal iR WfRs® HireAl &
ﬁwmmmﬁwﬁmﬁmmaﬁvmuﬁaﬂqwmmm%lmﬁ
greu=al § aiffezor & IR # fAvfy dd I9g 59 91 & = § @1 91T f gdY wan 9% fag &)
Sifrard fawg & w=u ¥ ye aral # ¥ siftreixr faendf asfae ar ae-et &1 U= s 7Y sma; aurfy
I AP U | FIER 1 931 & TP SATeT IS §RT IS T H TP, Iomias iR Afds
(TeaTT) G2, fagm ik Wenfiet & 3¢-Ard € gua € | saf oudl a9 3t fagm &Y uren=at @) g
faenfiaY ® fage, ae-at ok wae & siaxfaet & wfa Se®ar aM $t 3k 374 g1 Aifel Try §
JgiaRUT 7 WA rE=it gaiedi & ufd S 9ard gU 399 sAragiig HRredr ot fawfia @t 9t e
aifes & o1 g d 3 e 9d | 9k daa fawg-avg W 781 g1 a1fe, afew fagm W & affs &t



W v & @ afe | fasme Y wfehan wiwra srufq fasm drem ot faftat @ ao-iet wmer a8 71 9%
T ® T O Sarer Rt ghar @ 8k el «t fagm 9 ae-ie! &) amarR del | 9eadt g S
e # PRIR R4 id &1 ST Aaeid 98 81 [ fuaasq &1 e $ faar wie | o, e, Rrgia
3R faftr uRrgereli & wHem & R ST TN fas @+ 7out @ iR sHfT fa-urew=af #1
farenfial @) 39 |t ol | St arar g1 TR | JUTh ud) ae fay &) ue & Igad fiwg & T &
M1 I1RT 7 fF SraT-3renT "ol - Hifasst, Tamae iR sia-fage & sfew? | 35 ATafie TR W vy
gm—mm%wﬁmmwwamwm%mmﬁwumaﬂm

I

Al FalT a% 9P fag= e sifvard g1 aifge waife:
[Question ID = 13595]

1. fagm™ & fom7 e &1 ®13 Hg<d 78! § [Option ID = 24379]
2. fag fRreqm &7 31ge 3T § [Option ID = 24380]

3. 91t &1 9T F9 F &R g1 AT [Option ID = 24378]
4. gt 3 TA@HR IS T97 [Option ID = 24377]

Correct Answer :-

. gt B 3P FU J &R T A1RT [Option ID = 24378]

2) TR P ygH? A1 fou usl & Ik o

9 fPU U AT SERUT & AR 8T, favgavg, RIevRme iR e TR Ade g fagm fRien &
& # forg T T, WP SR I TR R UTeTddl & fd 36 axel F srguHal o Wfese WAl &
fafira gradus srdwal A @l uregwal & i iR wile uRada R 1wt yer ster 81 fag=
reuaat ® aiffeur & IR § fAofa ad 99 59 919 & = § va 9t % qudt wan 9 fage ot
Sifart favg & w=u # uga aral # ¥ sif¥repizr faendf af=e a1 a1t 1 U= 3™ T8 §dy; qurfy
I AP TU J WIER T Tl 8 T 3ITST THTS §RT ISTT 7Y H3 ATHTRID, Iefad iR Afas
(TeaTTa) 9E; s ok ieifirelt ¥ 38-Ard € ga ¥ | 3uRie qud ae @t e 9 wrowdf # gera:
faenffal A fagm=, de-Ne) 3R THE & siqdde & Ul SRehdr aF $t 3R 3@ g1 a1iee | |1y &
TOiaRul § WA Gia= TuEei & ufd 3% dard gu 374 aragiive $xraar i fawfia ot st anfge
s w1 P g 7 3 P 9F | SR Faa wg-axg W 78 11 A1fey, sfes fag Wea & a8t &
Wt gt | w1 Tifew | fasm @t uftean wiwra srufq fasm dhem 91 faftml @ aoitet wmar == 31 1%
T § TP O Sarer Rl ghar @ oiR el «t fagme 7 ao-ie! &) amar del | 9eadt g
M ¥ FRIR R 81d &1 3961 Haad g8 8] % fawgayg &) Terers &= four w1 9, fHaw, Rigia
3R Rt ufrgerseli &) Tus™ & R 91 ST Iy $t 7o 2 3R zaf Ry=-ureawaf &
et ®) 57 |+t ardl | St arar &1 T | JUTfy ud) ae fag &) v & Iyad favy & = §
ST 1T 7 o 3reT-3renT Jpral - Wifas), T 3R shig-fagm= # aicev | 3= Areafiie TR R e
gm-mm%wﬁmﬂwiwwawwmn%mm%wwﬁaﬁw

I

ﬁ?IFI @1 ool %:
[Question ID = 13598]

1. 9 fo9 Ryyia ud fafiya gfverereh &1 uga1 [Option ID = 24392]

2. 9 fgn Rigia ud fafts ufereret &1 S9aivT &A1 [Option ID = 24390]

3. 9 fan Rigia v fafis ufveersit &1 gHgHT [Option ID = 24389]

4. T foy Rigid vd fafte uRaersh &1 THSMET Td 3961 ST &A1 [Option ID = 24391]

Correct Answer :-

. T Aoy Rigia ud fafts ufaeren & THgMT Td 3961 SUTRT ST [Option ID = 24391]

3) TR B! UgH 12 feu usl & I e



T fHT T I SERAT & IR 8™, fawgayg, Rieomme iR s W Arie gl fageE Rien s
& # forg T Tl , P SR I TR R UreTddl & fa 30 axel $ srgual iR Wfese WAl &
fafira sragus srdwal A @l urewal & i ik wile uRada R s1wt yer sten 81 fag=
regTat § Tffeur & IR # fHofa dd Twg 59 99 3 s § W 9t f gudt wan 9@ fage a6t
3ifart favg & w=u § uga aral # F sif¥reizr faendf ag=e a1 a5 &1 U= 3™ T8 \Ie; qurfy
I AP TU F WIER T T 8 T 3ITST THTS §RT ISTT 7Y H3 ATHTRID, IeAfad iR Afas
(1) e, fag Sk wenfia & 5d-Ard & goa € | s eudl 99 &) fage &) ureg=at # ger:
faenffat § fagm=, de-Ne) 3k THe & siqdde & Ul SReedr @M $t 3R 3@ g1 ARy | |1y &
YiaRUT 9 WA =t FH1si & Ui S 9dTd gu S8 ATagIeg HRradr Wi fawfia #t st arfse
aife S B g A a4 e F | IR daa fvg-axg W T8 g1 91, afes fagm e & adie &)
ot yepr=r A @ AR | g Y ufthar iwra srufq fagm Wem 1 faftrat g ae-e wrer w9 81 a8
W § i A warer wrht giar § 3 faenfiat @t fag 9 aeie! 3 AR dol @ seadt g @
g ¥ PRIR R 81 €1 39T Haad a8 el {6 fawaayg &) Ave &2 four sl @, fFaw, Rigia
3R faftra ufraeral & wrem & R 3761 STa fag= &Y 7oa ? iR sufere fagm-ureu=af %1
faenfial ®) 57 |+t ardl | St aren g1 TR | JUTfy ud) ae fag &) v & e fivy & v d
M I1RT 7 fF SraT-3enT Wl - Hifasst, Iama= iR Sia-fage & sfew? | 35 ATafie TR W T
gm-emw%wﬁmﬂﬂ%wwamwm%mm%mwﬁaﬁw

I

famr Rigror & SR €1 =R :

[Question ID = 13597]

1. 8IS FHRIadT [dbRId B W [Option ID = 24386]
2. fagM T & % WR [Option ID = 24387]

3. fawg 9%g WR [Option ID = 24385]

4. IRad Gt [Option ID = 24388]

Correct Answer :-
« IWIad IH [Option ID = 24388]

4) T B UgH? A fau vl & IR o

a7 fPT T g IR F AR A&y, favaas, RievmRmd iR snea TR A g1t | fage Rien &
& # forg T Tl , P SR I TR R UreTddl & fa 36 axel $ srgual ok Wfese WAl &
fafta s aue R FriwH! A Yol uTeuwat & srdas 3R wite uRadd W $1w! ye sar g1 fage=
greual § aiffezor & IR # fAvfg ad I9g 59 91 & = § @1 91T f gudY wan 9% fag a1
Sfard fawg & w9 ¥ e aral ¥ & siftreiwn faemdf amfore ar ao-iet &1 U= oA =18 Sie; aurf
3= AW TT J IER §HT o<t & FITh 3T THTS §RT ISTT T P AT, Iefad 3R Afad
(FeaTTd) G2, fagm ik Wienfiet & 3¢-Ard € gua € | saf oudl a9 3t fagm &Y ure=al @) g
el # fagm, aedie ok gae & siafdul & ufd SReedr aM $1 iR I g1 @ifeu | wy &
YgiaRUT 9 WA rE=it garedi & ufd 3 9ard gU 399 sAragiig HRredr ot fiwfia @t st arfee
aifes &8 o1 g d 3 e 9d | 9k daa fawg-avg W) 781 g1 a1fe, afew fagm W & affts &t
Wt wepr=r | @ Afee | fagm @Y ufthar e srufe fagm Wem 9 faftrt 7 ao-ite e st 31 a8
W § i A warer wrht giar § 3R faenfiat @t fag 9 ae-ie! 3 AR dol @ seadt g @
T A $RR s 819 &1 39T Haad g8 A81 1% fawgasg o Fwe s f&ar s @, fraw, figia
3R fafre afvaeralt &) TwgM & R 371 START iy @) o7 ¢ 3R g9 fagmq-urea=af i
farenf¥fa @1 571 ol aral & Sie aren g1 AR Y| qUTy oudY a9 g ®) ve @ Wy Avg v d
M I1RT 7 b S-St Wl - Hifast, Tama= iR ia-fage & sfew? | 35 ATafie TR W T
gm-amm%mﬁmﬂﬁ%wwamwm$mm$muuﬁaﬁw

I

fasm Rreror &1 Irdferar ik s 2
[Question ID = 13599]
1. a9 &1 Sfigq & IuaRT 31 R’IGM WR [Option ID = 24395]



2. fag dRe IR [Option ID = 24394]
3. fawg a%g &t SHHRI 8 WR [Option ID = 24393]
4. IRIad Gt [Option ID = 24396]

Correct Answer :-

« IWiad I+ [Option ID = 24396]

5) T B g A AT usl & IR i

T fHT T I SERAT & IFUR 8™, favgayg, Rievmmd iR s W Arie 81 fage Rien
& # P Q2T , P IR S TR R UToudi & fOvd T S¥@ & SHal R WP HIeAl &
Wmmmmﬁwﬁm%smaaaﬁ?muﬁaﬁqwmﬁmm%lmﬁ
regTat § Tffe vl & IR | fHofa dd a9g 59 919 3t e ° 1@ aifge fh gudt e a@ fage ot
Sifard fawg & v # ygA aral # | siftreiwn faemdf amfae ar ao-et &1 U= s 7Y sie); qurfy
32 AP FU | WIeR TH1 T3l § Flfb 3T HTS §RT ISTT Y 5 IS, Ifad iR Afas
(FeaTTd) G, fagma iR wienfiet & 36-M1d € gua € | safe oudl a9 3t fagme &Y urea=at «) g
faenf¥al & fage, aeta ok wae & siaxfde & ufd STRewar aM $ R I g Tifeu| |y &t
YgiaRUT T WA rE=t gHredi & ufd S8 ddrd gu S8 Aragiig HRredr ¥t fawfia @t ot arfse
i S Y g-ar A 4 e & | R daa fAvg-axg W A1 g1 91y, afep fagm e & adid &)
Wt yepr=r & @ Afe | fagma &Y ufthar @ixra srufq fagm Wam o1 faftmr 3 ao-itet T 8 31 a8
Tt T A wTeT R €T @ o Rrenfit @ fawe 3 ae-ia @t @R Jeht @ aead gl S
T 4 $RR ¥ 31d 81 SUST Haad g8 81 1% fawgasg & Tovera s f&ar s @, A, figia
3 i ofaeTal B THEr & RE geT SUhT g @ 7od 2 ok Swh Ry-areTay @t
et ) 57 |t ardl & S aran &1 T auTfy qud) ae fag ) v & e vy & = §
ST I1RT 7 o 3reT-3reT Jprl - Hifasd), Tara= 3R shig-fagm= # aice? | 3= Araafiie TR R o
;ﬁﬂ-mm%wﬁmmwwamwm%mm%mﬂmﬁm

I

T4l 9 9 ursT=dt faenfial # oy, de-ie! 3R THe & siaddt) & ufd SReewdr aF & ufd
I g1 1feT NS

[Question ID = 13596]

1. oI &t AE@al &I QT gl foaT ST FahdT [Option ID = 24384]

2. fa9 &% &, &1 3MUR & [Option ID = 24383]

3. Ug 33 e &7 AM% § [Option ID = 24381]

4, G, JeHfa® 3R e g, fas & 98 U § [Option ID = 24382]

Correct Answer :-

o WM, Ae-Tad 3R Afdd e, a7 ¥ IS §U @ [Option ID = 24382]

Topic:- DU_J19 _Bed_T8

1) Which of the following statement(s) about the modern periodic table are incorrect?

i. The elements in the modern periodic table are arranged on the basis of their decreasing atomic
numbers

ii. The elements in the modern periodic table are arranged on the basis of their increasing atomic
masses

iii. Isotopes are placed in adjoining group(s) in the periodic table

iv. The elements in the modern periodic table are arranged on the basis of their increasing atomic
number

3y 3mad aroft & Tg § FafifEa & @ B9 91/ Fy= Tad /82

i. MY amad IRl & dl $ 3% Ued T WU HHIS P YR W Haiyd frar g

ii. 3TYFIP 3irad TRUT F Tl B I9F Ted Y WRHIY] HRY & MTYR TR Hafeyd frar g



i, 3fTae AR § THRfAS! @1 Jay agl ¥ 7@ W g
iv. 3MYFIP 3mad TR § qadl B ITP WU HHIP & Ted g¢ v A yafeyd fear g

[Question ID = 13603]

1. (i), (i) and (iv) / (i), (ii) 3R (iv) [Option ID = 24411]
2. (i), (i) and (iii) / (i), (ii) 3R (iii) [Option ID = 24410]
3. Only (iv) / %dd (iv) [Option ID = 24412]

4. Only (i) / a4 (i) [Option ID = 24409]

Correct Answer :-
o (i), (ii) and (iii) / (i), (ii) 3R (iii) [Option ID = 24410]

2) Which Sanskrit granth is on the subject of politics :
I & fIwg R 9 T TRPa UA 7 -
[Question ID = 13620]

1. Nitiratnakara/=TfoR@®R [Option ID = 24480]
2. Arthashastra/G{?ﬁHW [Option ID = 24479]

3. YuktiKalpataru/gfdddedd® [Option ID = 24478]
4. Kamandkiyanitisara/®Hg® IR [Option ID = 24477]

Correct Answer :-
. Arthashastra/\?r{?fEZTlﬁ [Option ID = 24479]

3) Restricting the transfer of share is a feature of:

VIR F TR B FfAT H31 fFa v favar 8:
[Question ID = 13614]

1. Private Company/fasit &U-il [Option ID = 24456]

2. Subsidiary Company/¥grdd &U-l [Option ID = 24454]
3. Holding Company/gIfeaTT &UT [Option ID = 24455]

4. Public Company/m U [Option ID = 24453]

Correct Answer :-
¢ Private Company/ﬁGﬂ U [Option ID = 24456]

4) Three squares of chess board are selected at random. The probability of getting 2 squares of
one colour and other of a different colour is :

frlt s A1 & 9 ot arewsar g9 o1d &1 S 9 b Uh g [ P a°T AR @ & U [ F 71 F
UTR®dT @ : [Question ID = 13606]

1. 16/21 [Option ID = 24421]
2. 8/21 [Option ID = 24422]
3. 20/21 [Option ID = 24424]
4. 4/21 [Option ID = 24423]

Correct Answer :-
e 16/21 [Option ID = 24421]

5) The filter attenuation theory of selective attention was developed by



TITHSD AT BT flheex oA Rigia & gR1 fawfid f&am a1 AT [Question ID = 13610]

1. Heinz/gTg~1 [Option ID = 24439]

2. Broadbent/siT8sE [Option ID = 24440]
3. Johnston/SIAE [Option ID = 24438]
4. Triesman/@ﬂﬁ? [Option ID = 24437]

Correct Answer :-
« Broadbent/sT8sc [Option ID = 24440]

6) "Ramcharitmanas”is a work of which time in Hindi literature?

“IERaag” f§ e # {9 &1 3t i 82 [Question ID = 13624]

1. Reeti period/3Ifd &I [Option ID = 24496]

2. Devotional period/ﬂ-ﬁ%rw [Option ID = 24493]

3. Veergaatha period/?ﬁQTIT%H PId [Option ID = 24494]
4. Modern Era/3{TYf<& &Tdl [Option ID = 24495]

Correct Answer :-
« Devotional period/Hfad &Ta [Option ID = 24493]

7) Two finite sets have m and n elements respectively. The total number of subsets of first set is
56 more than the total number of subsets of the second set. The values of m and n respectively
are

<1 o fra ag=ral & wHRr: m SR n 3aud 1 Ugd GUEd & IU-OYERl @1 $d WS gH) gy Bt 3u-
U] B $d BT A 56 3fUB g1 m 3R n BT U A

[Question ID = 13631]

1.7, 6 [Option ID = 24521]
2.8, 7 [Option ID = 24523]
3. 6, 3 [Option ID = 24524]
4. 5,1 [Option ID = 24522]

Correct Answer :-
e 6, 3 [Option ID = 24524]

8) "“Provided policies are general guidelines to managerial action that helps in implementation of
strategy.” Which of the following is incorrect about strategy and policy?

"Ue Pt 13 faui yeduety srdarst & o wmr fimnfadsr € St ofg A @) A $ | Hag HRdl
& 1" Yorfifa ok fifa & ar # Fufafad & S« Taa 82

[Question ID = 13613]

1. Policy is decision oriented while strategy is action oriented./=fd fufg 39 § Safe o wrdare! g
8 [Option ID = 24451]

2. Policy is set of rules for decision making while strategy is best possible alternative. /i fofa = & forg
et o1 e g Safe i g9 3T T fawed § [Option ID = 24452]

3. Policy is comprehensive plan while strategy is general response./:ﬂﬁf S ISl § Safd UM IH=T
yfafesar 8 [Option ID = 24449]

4. Policy is principle of action, while strategy is best plan of action./=\fd STIaTE! &1 Rigid § &P v
PAATE! FI TEY 3BT AISHT & [Option ID = 24450]

Correct Answer :-



« Policy is comprehensive plan while strategy is general response./Hfd STUE TISHT § ST UM I
gfafesar 8 [Option ID = 24449]

9) What has globalisation not led to?
Afiwur & T 7Y g3 82 [Question ID = 13616]

1. equal opportunities to all countries/I4T G & forT THH 3awR [Option ID = 24464]
2. greater access to global markets/3f¥® TR d% UH Ugd [Option ID = 24463]
3. increased income inequalities/ 3T SHATSA H FgIas! [Option ID = 24461]

4. growth of only service sector/Ryth Tar & & q@ [Option ID = 24462]

Correct Answer :-
« equal opportunities to all countries/aHt ¢=T & o YA ¥R [Option ID = 24464]
« growth of only service sector[f%l’@% a1 &7 o T{@ [Option ID = 24462]

10) Who is the writer of 'tukdi jag to nyari?
ehel 1 A AR wfaar few #fa 1 22

[Question ID = 13626]

1. Bhai Veer Singh/HTs dR Rig [Option ID = 24502]

2. Shiv Kumar Batalwi/fR1d $HR ScTed! [Option ID = 24503]
3. Nand Lal Noorpuri/=ic @Te -RYLT [Option ID = 24504]

4. Amrita Pritam/Gﬂﬂ?ﬂEﬂﬂ'ﬂr [Option ID = 24501]

Correct Answer :-
« Bhai Veer Singh/HTs dR g [Option ID = 24502]

11) Who was the father of Bibi Bhani?
et wroft & forar &1 =9 T 3

[Question ID = 13625]

1. Guru Arjun Dev/T[% 35 &d [Option ID = 24499]
2. Guru Nanak/T® AT [Option ID = 24500]

3. Guru Amardas/TT¥ HQ [Option ID = 24497]
4. Guru Ramdas/T[> ITHG [Option ID = 24498]

Correct Answer :-
o Guru Amardas/T® 3THRGIN [Option ID = 24497]

12) Who is the author of "Prithviraj Raso'?

i RIS TR T AWD DI 82
[Question ID = 13623]

1. Vikramaditya/ﬁm [Option ID = 24492]
2. Banabhatta/dTUHg [Option ID = 24491]

3. Chandrabadai/J&sRals [Option ID = 24489]
4. Kalidas/®TieIaR™ [Option ID = 24490]

Correct Answer :-
« Chandrabadai/T&sRaTs [Option ID = 24489]



13) "It was the best of times, it was the worst of times, it was the age of wisdom, it was the age
of foolishness, it was the epoch of belief, it was the epoch of incredulity, it was the season of
light, it was the season of darkness...” (A Tale of Two Cities)

The foregoing sentences employ the rhetorical device of: [Question ID = 13617]

1. Alliteration [Option ID = 24465]
2. Antithesis [Option ID = 24468]

3. Anaphora [Option ID = 24467]

4. Allusion [Option ID = 24466]

Correct Answer :-
 Antithesis [Option ID = 24468]

14) Using non sense syllables..................... found that 5+-2 is the magical number denoting the
capacity of Short Term Memory :
15 PRI E 2R AR I K 1910 G R I A 9t T % 5 + -2 @Y Srafy Wfa Y eryar &t gmiiA

qTelt WITgS TSI @ : [Question ID = 13612]

1. Miller/fle@R [Option ID = 24445]

2. Stanley Hall/¥Telt 81d [Option ID = 24446]

3. Atkinson and Shiffrin/Tefa 3R fRIEE [Option ID = 24448]
4, Craik and Lockhart/abcb 3R deoslé [Option ID = 24447]

Correct Answer :-
« Miller/fieeR [Option ID = 24445]

15) Premium received on issue of shares can be used for:

32N & SfeRTed R fArta= &1 Iu=T f5ar &1 |wn 8: [Question ID = 13615]

1. Redemption of debentures/%‘UrCBﬁ & HET [Option ID = 24460]

2. Writing off preliminary expenses/IRIR® 31f¥eqdl &1 31fAei@ [Option ID = 24458]
3. Payment of Dividend/@THIRI ST YITdTH [Option ID = 24457]

4. Payment of director fees/MaRI®H Rledh DT YT [Option ID = 24459]

Correct Answer :-
« Writing off preliminary expenses/IRR® N BT fHTG [Option ID = 24458]

16) What is the meaning of 'Haajat Rawa Karana'?
"gToTd ¥al HAT BT 31 T 82 [Question ID = 13627]

1. Rawadaari karna /JATGRT AT [Option ID = 24506]

2. Khush hona/&1 IHT [Option ID = 24505]

3. Rawana hona /@M 8T [Option ID = 24508]

4. Zarurat puri karna/ SReXd Gt &A1 [Option ID = 24507]

Correct Answer :-
o Zarurat puri karna/ $i¥exd @W‘vﬂ [Option ID = 24507]

17) Children think that all things are living like their own self. This is called :

‘g &) T 8 6 Tt S oA wad & quH Sfida 8- 39 @@ ST @ : [Question ID = 13609]

1. Imaginary audience/®Ted(-d g% [Option ID = 24436]
2. centration/d 4T [Option ID = 24433]



3. Animism/STiadrg [Option ID = 24434]
4. Personal fable/aafadiTd Hicdd [Option ID = 24435]

Correct Answer :-
« Animism/Sitadlg [Option ID = 24434]

18) In modern period Sanskrit kosh written according to alphabetical order are :
1. Watchespattyam

2. Sabdkalpadruma

3. Amarkosh

4. Abhidhanachintamani

Y F1a A quinTer & H9 A A T AT HIv e :
1. AT

2. YegheugH
3. RBIN
4. fYrRiarafor

[Question ID = 13619]

1. 2 and 3/2 ¥4 3 [Option ID = 24474]
2. 3 [Option ID = 24475]

3. 3,4 [Option ID = 24476]

4,1 and 2/1 T4 2 [Option ID = 24473]

Correct Answer :-
« 1and 2/1Td 2 [Option ID = 24473]

19) Let A and B be any two sets such that n(B) = p, n(A) = q then the total number of functions f
:A—->Bisequalto:

T AT fF AT BFE TR NI e fF n(B) =p, n(A)=q, AFEAAI f: A > BP FaTBIT @ :
[Question ID = 13605]

1. gP [Option ID = 24419]
2. p+q [Option ID = 24420]
3. pY [Option ID = 24418]
4. pq [Option ID = 24417]

Correct Answer :-
« pY9[Option ID = 24418]

20) If (a, b) is the mid-point of the line segment joining the points A (10, — 6) and B (k, 4) and a
— 2b = 18, then the value of k and the distance AB is :

Tfe (a, b) famait A (10, —6) 3R B (k, 4) ) fire™ I YOGS FTHA fAg g auTa—2b = 188, @ k
BT A 3R AB B gt 8¥ft : [Question ID = 13630]

k=23,AB=2 \/69
k=24,AB=2 V/f":;

2. ~ [Option ID = 24517]

1 [Option ID = 24520]

3, k=22,AB=2 \/m [Option ID = 24518]

0
4, k=22 AB=32 6 [Option ID = 24519]



Correct Answer :-

. k=22,AB=2 \fﬁl [Option ID = 24518]

21) A few substances are arranged in the increasing order of ‘forces of attraction’ between their
particles. The ones which represent the correct arrangement are:

PO UG B TP HUN & T ATHYUI IA’ P Tgd ¢ hH W yafeud farar a1 8| ot T a1 B
frefia Har 8, 9 € : [Question ID = 13601]

1. salt, juice, air /AH®, X9, A [Option ID = 24404]

2. air, sugar, oil/arg, ]I, I [Option ID = 24402]

3. water, air, wind /Sidl, 91, Ud- [Option ID = 24403]

4. oxygen, water, sugar/3{{agioi, STd, W[Optlon ID = 24401]

Correct Answer :-
« oxygen, water, sugar/3iTeRilSi, STd, YT [Option ID = 24401]

22) Assertion (A): Combustion of all organic compounds is an exothermic reaction.
Reason (R): The enthalpies of all elements in their standard state are zero.

3B YT (A) - Gt FEAE DS 1 587 TP Iaiadt sifufssar 31
& (R) - A w1 # 9t da) B gt 3= 81t 21

[Question ID = 13604]

1. Both A and R are true but R is not the correct explanation of A/ A 3R R AT el % Td R, A®I gl G2 ER
% [Option ID = 24414]

2. Both A and R are true and R is correct explanation of A / A 3R R G} Jg! § Td R, A BT Tg! d & [Option
ID = 24413]

3. Ais false but R is true / A TTdd § U= R W&l § [Option ID = 24416]

4. Ais true but R is false / A gl § TR<] R 7Tad g [Option ID = 24415]

Correct Answer :-

« Both A and R are true but R is not the correct explanation of A/ A 3R R ST T § TG R, A &I Tal LCg
&1 & [Option ID = 24414]

23) Four alternatives are given for the idioms/phrase BOLD in the sentence. Choose the
alternative which best expresses its meaning.

Indians are going places in the field of software technology:
[Question ID = 13618]

1. going abroad [Option ID = 24469]

2. going to spaces [Option ID = 24470]

3. friendly and amicable [Option ID = 24472]
4. talented and successful [Option ID = 24471]

Correct Answer :-
« talented and successful [Option ID = 24471]

24) What happens when a solution of an acid is mixed with a solution of a base in a test tube?
i. The temperature of the solution increases
ii. The temperature of the solution decreases



iii. The temperature of the solution remains the same

iv. Salt formation takes place

9 TP 3R O P T UREel # T &80 Oa & 91y e Sirar § 99 o1 gidn 82
I. 9 BT dI9HTH 9¢d1 &

II. 919 P dTYHE HH g SIa1 &

III. 91 P dT9HE JH 38T @

1IV. 7T9® P fAHior gar @

[Question ID = 13602]

1. (i) and (iii)/ (i) 3R (iii) [Option ID = 24407]
2. (i) and (iii)/ (i) 3R (iii) [Option ID = 24406]
3. (i) and (iv) / (i) 3R (iv) [Option ID = 24408]
4. Only (i)/%dd (i) [Option ID = 24405]

Correct Answer :-
e (i)and (iv) / (i) 3R (iv) [Option ID = 24408]

25) Frafafad § @ #19 W G $1 I 781 @
a) § + 3fdw: = gfa:

b) &<l + 39 = @dg

c)%ﬂ+3‘@'ﬂ: =1%?ﬁ1ﬁ'!ﬂ:

d) 3q + AR = I=RIH

[Question ID = 13621]

1. 2 T4 3 [Option ID = 24482]
2. 3 [Option ID = 24483]

3. 3,4 [Option ID = 24484]

4. 4 [Option ID = 24481]

Correct Answer :-
e 4 [Option ID = 24481]

26) fAafafed & @ #9 SrarfiHTg TURT $T 38701 81 8: [Question ID = 13622]

1. 499 §1: = Y8 : [Option ID = 24488]

2. S = UhH UHH sfd [Option ID = 24485]

3. Fifar e = Af&@Tomy siyTa: [Option ID = 24487]
4. 33U = ©U™ g [Option ID = 24486]

Correct Answer :-

« 99 8F: = Y7IgIH: [Option ID = 24488]

27) According to the principle of , we tend to fill the gaps in simulation and perceive the
objects as whole rather than their separate parts:

__ ¥ fugia & IJUR, gW 3GSUV # 3T §T 3fdR ! WA & AT 9eR 384 € 3R axgail &+l 7%
S-S R & R R [rgufar § Sgyd R 8: [Question ID = 13611]

1. Surroundedness/URgdT [Option ID = 24444]
2. Closure/¥THTU [Option ID = 24442]

3. proximity/f@cdr [Option ID = 24441]

4. Continuity/ﬁ?‘cR_clT [Option ID = 24443]

Correct Answer :-
o Closure/dH1U- [Option ID = 24442]



28_) Who is the writer of 'Bange Dara’?
“SHIERT BT TR B 82 [Question ID = 13628]

1. Nazeer Akbarabaadi/ TSR 3{&eRTaTG! [Option ID = 24511]
2. Mirza Ghalib /fiSif Tfere [Option ID = 24509]

3. Meer Taki Meer /Iﬂ?ﬂﬁ R [Option ID = 24510]

4. Allama Igbal /3T Shdldd [Option ID = 24512]

Correct Answer :-
« Allama Igbal /3T Shdldd [Option ID = 24512]



